FRAIL BLAZERS GAME NOTES

LAST

PLAYE



2023-24 TRAIL BLAZERS SCHEDULE DATE OPPONENT SCORE 10/25 @ Clippers 111-123 0-1 vs. Magic 97-102 0-2 10/27 10/29 0-3 @ 76ers 98-126 10/30 1-3 @ Raptors 99-91 11/1 @ Pistons 110-101 2-3 11/3 vs. Grizzlies 115-113* w 3-3 3-4 11/5vs. Grizzlies 100-112 3-5 11/8 118-1213 @ Kings 11/12 @ Lakers 110-116 3-6 3-7 11/14 @ Ja77 99-115 11/15 vs. Cavaliers 95-109 3-8 95-107 3-9 11/17 vs. Lakers 11/19 vs. Thunder 91-134 3-11 11/21 @ Suns 107-120 11/22 vs. Jazz 121-105 4-11 11/26 @ Bucks 102-108 4-12 11/27 5-12 @ Pacers 114-110 @ Cavaliers 6-12 11/30 103-95 113-118* 6-13 12/2 @ Jazz 12/6 @ Warriors 106-110 6-14 6-15 12/8 vs. Mavericks @ Clippers 12/11 127-132 6-16 12/14 vs. Jazz 114-122 6-17 12/16 vs. Mavericks 120-131 6-18 6-19 12/17 114-118 vs. Warriors 7-19 12/19 vs. Suns 109-104 12/21 vs. Wizards 117-118 7-20 7-21 12/23 106-126 @ Warriors 12/26 130-113 8-21 vs. Kings vs. Spurs 12/28 105-118 8-22 12/29 vs. Spurs 134-128 9-22 88-109 9-23 1/1 @ Suns 1/3 @ Mavericks 97-126 9-24 1/5 1/7 @ Mavericks 103-139 9-25 134-127 10-25 @ Nets 10-26 1/9 @ Knicks 84-112 1/11 @ Thunder 77-139 10-28 1/12 @ Timberwolves 93-116 10-29 1/14 116-127 vs. Suns 1/17 105-103 11-29 vs. Nets vs. Pacers @ Lakers 1/19 118-115 12-29 1/21 110-134 12-30 1/23 @ Thunder 109-111 12-31 1/24 @ Rockets 137-131* 13-31 w 1/26 @ Snurs 100-116

PORTLAND TRAIL BLAZERS (21-	60) @ SACRAMENTO KINGS (45-36)
Regular Season Gan TV: ROO	en 1 Center — 12:30 p.m. PDT ne #82 — Road Game #41 T SPORTS PLUS City Radio 620 AM
GAME'S STARTERS	
ER / 2023-24 REGULAR SEASON AVERAGES N	OTES
Vria Murray	Last Came. Dected 10 points (A 11 EC 1 7 2 DT 1 1 ET) a

#8 Kris Murray F • 6-8 • 210 • Iowa/USA • Rookie GP/GS PPG RPG APG SPG BPG MPG 61/28 6.0 3.4 1.3 0.9 0.3 21.4	
#34 Jabari Walker F • 6-9 • 227 • Colorado/USA • 2nd Season GP/GS PPG RPG APG MPG 7/2/23 8.9 7.1 1.0 0.6 0.3 23.6	
#2 Deandre Ayton C • 7-0 • 247 • Arizona/Bahamas • 6th Season GP/GS PPG RPG APG SPG BPG MPG 55/55 16.7 11.1 1.6 1.0 0.8 32.4	
#72 Rayan Rupert G • 6-8 • 195 • New Zealand Breakers/France • Rookie GP/GS PPG RPG APG SPG BPG MPG 38/11 3.8 2.3 1.5 0.3 0.1 15.6	against the Rockets on April 12.
#00 Scoot Henderson G • 6-3 • 202 • NBA G League Ignite/USA • Rookie GP/GS PPG RPG APG SPG BPG MPG 62/32 14.0 3.1 5.4 0.8 0.2 28.5	

2023-24 REGULAR	SEASON TRAIL BL	ZERS RECOR	DS			
	RECORD	HOME	ROAD	OT	STREAKS	
OVERALL	21-60	11-30	10-30	5-3	OVERALL	Lost 4
WESTERN	8-43	5-21	3-22	3-2	HOME	Lost 7
EASTERN	13-17	6-9	7-8	2-1	ROAD	Lost 1
NORTHWEST	1-15	1-7	0-8	0-1		

TRAIL BLAZERS INJURY REPORT

OUT Malcolm Brogdon (Right Elbow; Tendinitis) Toumani Camara (Left Rib; Fracture) Jerami Grant (Right Hamstring; Strain) Shaedon Sharpe (Lower Abdominal; Surgery) Matisse Thybulle (Right Ankle; Impingement) Robert Williams III (Right Knee; Ligament Tear)

DOUBTFUL

13-33

14-33

15-33

15-34

15-35

15-36 15-37

15-38

15-39

15-40 15-41

15-42

16-42

17-42

17-43

17-44

17-45

18-45

18-46

19-46

19-47

19-48

19-49

19-50

19-51

19-52

19-53

19-54

19-55

19-56

20-56

21-56

21-57

21-58 21-59

21-60

96-104

130-104

119-116

108-120

103-112

122-128*

109-121

91-128

112-127

80-93 96-106

122-92

107-100

114-119

120-128

107-123

128-118*

99-121

106-102

93-105

107-126

107-110

103-116

117-125

111-114

92-110

106-120

82-142

103-104

108-102

107-124

100-110

92-100

107-116

12:30 pm

89-86

w

w

84-93

Anfernee Simons (Left Knee; Tendinitis) Jabari Walker (Left Knee; Tendinitis)

QUESTIONABLE

Deandre Ayton (Low Back; Soreness) Scoot Henderson (Left Hip; Soreness)

BROADCAST INFORMATION

All Portland Trail Blazers regular season games will be broadcast on the Trail Blazers Broadcasting flagship station, Rip City Radio 620 AM. Travis Demers is in his fifth full season of providing play-by-play commentary for all home and away games, with Michael Holton adding commentary. On television, ROOT SPORTS and ROOT SPORTS PLUS will air 81 Trail Blazers regular season games featuring Kevin Calabro calling play-by-play, Lamar Hurd providing analysis and Brooke Olzendam reporting from the sideline. For all viewing options, visit www.trailblazers.com/watch.

@ Kings All Times Portland Time (PT) **Overtime Periods**

1/28

1/29

1/31

2/2

2/4

2/8

2/10

2/13

2/15

2/23

2/25

2/27

3/1

3/2

3/4 3/6

3/8

3/9

3/11

3/13

3/14

3/16

3/18

3/20

3/22

3/23

3/25 3/27

3/29

4/1

4/3

4/5

4/7

4/9

4/11

4/12

4/14

vs. Bulls

vs. 76ers

vs. Bucks

@ Nuggets

@ Nuggets

vs. Pistons

vs. Pelicans

vs. Nuggets

vs. Hornets

@ Grizzlies

@ Grizzlies

@ Timberwolv

vs. Thunder

vs Rockets

vs. Raptors

vs. Celtics

vs. Hawks

vs. Knicks

@ Pelicans

vs. Clippers

vs. Clippers

vs. Nuggets

@ Rockets

@ Hawks

@ Heat

@ Magic

@ Hornets

@ Wizards

@ Celtics

vs. Pelicans

vs. Warriors

vs. Rockets

@ Bulls

vs. Heat

vs. Timberwolves

vs. Timberwolves

2023-24 REG. SEASON RECORD BY MONTH Oct: (1-3); Nov: (5-9); Dec: (3-10); Jan: (6-11); Feb: (0-9); Mar: (4-13): Apr: (2-5)



2023-24 TRAIL BLAZERS ROSTER



NO.	PLAYER	POS.	HT.	WT.	BIRTHDATE	PRIOR TO NBA/HOME COUNTRY	NBA EXP.
2	Deandre Ayton	C	7-0	247	07/23/1998	Arizona/Bahamas	5
41	Ibou Badji*	С	7-0	237	10/13/2002	Forca Lleida CE/Senegal	1
5	Dalano Banton	G	6-9	204	11/07/1999	Nebraska/Canada	2
11	Malcolm Brogdon	G	6-5	228	12/11/1992	Virginia/USA	7
10	Moses Brown	С	7-2	258	10/13/1999	UCLA/USA	4
33	Toumani Camara	F	6-8	226	05/08/2000	Dayton/Belgium	R
9	Jerami Grant	F	6-8	213	03/12/1994	Syracuse/USA	9
19	Ashton Hagans*	G	6-3	190	07/08/1999	Kentucky/USA	1
00	Scoot Henderson	G	6-3	202	02/03/2004	NBA G League Ignite/USA	R
24	Justin Minaya*	F	6-6	205	03/26/1999	Providence/USA	1
8	Kris Murray	F	6-8	210	08/19/2000	Iowa/USA	R
26	Duop Reath	С	6-10	245	06/26/1996	Al Riyadi/South Sudan	R
72	Rayan Rupert	G/F	6-8	195	05/31/2004	New Zealand Breakers/France	R
17	Shaedon Sharpe	G	6-6	205	05/30/2003	Kentucky/Canada	1
1	Anfernee Simons	G	6-4	193	06/08/1999	IMG Academy/USA	5
4	Matisse Thybulle	G/F	6-6	202	03/04/1997	Washington/USA	4
34	Jabari Walker	F	6-9	227	07/30/2002	Colorado/USA	1
35	Robert Williams III	С	6-10	249	10/17/1997	Texas A&M/USA	5

*Player on two-way contract

STAFF

Head Coach: Chauncey Billups

Assistant Coaches: Scott Brooks, Roy Rogers, Steve Hetzel, Jonah Herscu, Rodney Billups, Mark Tyndale Player Development Coaches: Pooh Jeter, Gilbert Abraham, Ryan Gomes Analytics Coach: Jacob Mooallem

Head Video Coordinator: Eli Kell-Abrams

PRONUNCIATION GUIDE

Ibou Badji (E-boo BAH-gee); Dalano Banton (duh-LAH-no BAN-ten); Toumani Camara (too-MAH-nee cuh-MAR-uh); Jerami Grant (jare-UH-me Grant); Justin Minaya (Justin Min-EYEuh); Duop Reath (Dw-AHP Reath); Rayan Rupert (RYE-ahn roo-PARE); Shaedon Sharpe (SHAY-din Sharpe); Anfernee Simons (AN-fur-nee SIGH-mons); Matisse Thybulle (muh-TEECE THIGH-bull)

HOW THE TRAIL BLAZERS WERE BUILT

FREE AGENTS	
2024 2023	- Ashton Hagans - Ibou Badji - Moses Brown - Justin Minaya - Duop Reath
OBTAINED VIA TRADE	
2024	- Dalano Banton
2023	- Deandre Ayton - Malcolm Brogdon - Toumani Camara - Matisse Thybulle - Robert Williams III
2022	- Jerami Grant
OBTAINED VIA DRAFT	
2023	- Scoot Henderson - Kris Murray - Rayan Rupert
2022	- Shaedon Sharpe - Jabari Walker
2018	- Anfernee Simons

Director of Health & Performance: Dr. Evan Ellis Head Athletic Trainer: Courtney Watson Head Strength Coach: Dale Boyd

1 Anfernee Simons

NUMERICAL ROSTER 00 Scoot Henderson 2

2	Deandre Ayton	4	Matisse Thybulle
5	Dalano Banton	8	Kris Murray
9	Jerami Grant	10	Moses Brown
11	Malcolm Brogdon	17	Shaedon Sharpe
19	Ashton Hagans	24	Justin Minaya
26	Duop Reath	33	Toumani Camara
34	Jabari Walker	35	Robert Williams III
41	Ibou Badji	72	Rayan Rupert

2023-24 TRANSACTIONS

March 30: Recalled Moses Brown ... March 29: Assigned Moses Brown to the Rip City Remix ... March 27: Recalled Shaedon Sharpe ... March 24: Assigned Shaedon Sharpe to the Rip City Remix for conditioning ... Feb. 23: Signed Ashton Hagans to a two-way contract ... Feb. 16: Signed Duop Reath to a standard NBA contract ... Feb. 14: Recalled Rayan Rupert ... Feb. 12: Assigned Rayan Rupert to the Rip City Remix ... Feb. 8: Acquired Dalano Banton and cash considerations from the Boston Celtics in exchange for a protected second-round draft pick ... Signed Ashton Hagans to a 10-day contract ... Feb. 3: Recalled Rayan Rupert ... Feb. 1: Assigned Rayan Rupert to the Rip City Remix ... Jan. 20: Signed Taze Moore to a 10-day contract . Waived Skylar Mays and Ish Wainright ... Jan. 4: Recalled Rayan Rupert ... Dec. 31: Recalled Kris Murray ... Dec. 30: Assigned Kris Murray and Rayan Rupert to the Rip City Remix ... Dec. 28: Recalled Kris Murray and Rayan Rupert ... Dec. 27: Assigned Kris Murray to the Rip City Remix ... Dec. 26: Assigned Rayan Rupert to the Rip City Remix ... Dec. 22: Recalled Rayan Rupert . Dec. 15: Recalled Ish Wainright ... Dec. 11: Assigned Rayan Rupert to the Rip City Remix ... Dec. 10: Assigned Ish Wainright to the Rip City Remix ... Dec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Assigned Moses Brown, Kris Murray and Rayan Rupert ... Assigned Moses Brown, Kris Murray and Rayan Rupert ... Assigned Moses Brown, Kris Murray and Rayan Rupert ... Assigned Moses Brown, Kris Murray and Rayan Rupert ... Bec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Assigned Moses Brown, Kris Murray and Rayan Rupert ... Bec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Bec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Bec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Bec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Bec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Bec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Bec. 8: Recalled Moses Brown, Kris Murray and Rayan Rupert ... Recalled Moses Brown, Kris Murray and Rayan Rupert ... Recalled Moses Brown, Kris Murray and Rayan Rupert ... Recalled Moses Brown, Kris Murray and Rayan Rupert ... Recalled Moses Brown, Kris Murray and Rayan Rupert ... Recalled Moses Brown, Kris Murray and Rayan Rupert ... Recalled Rupert Rupert Rupert Rupert Rupert ... Recalled Rupert Rayan Rupert to the Rip City Remix ... Dec. 7: Recalled Moses Brown and Rayan Rupert ... Dec. 6: Assigned Moses Brown and Rayan Rupert to the Rip City Remix ... Dec. 3: Recalled Rayan Rupert ... Nov. 23: Assigned Rayan Rupert to the Rip City Remix ... Nov. 22: Re-signed Ibou Badji to a two-way contract ... Waived Jamaree Bouyea ... Nov. 21: Recalled Scoot Henderson Assigned Scoot Henderson to the Rip City Remix for return to court conditioning ... Nov. 20: Recalled Moses Brown, Kris Murray and Ravan Rupert ... Assigned Moses Brown, Kris Murray and Ravan Rupert to the Rip City Remix ... 18: Recalled Moses Brown Kris Murray and Rayan Rupert ... Assigned Moses Brown and Kris Murray to the Rip City Remix ... Nov. 16: Assigned Rayan Rupert to the Rip City Remix ... Nov. 13: Recalled Rayan Rupert and Ish Wainright ... Nov. 12: Assigned Rayan Rupert and Ish Wainright to the Rip City Remix ... Signed Jamaree Bouyea to a two-way contract ... Converted the two-way contract of Skylar Mays to a standard NBA contract ... Nov. 11: Recalled Kris Murray and Rayan Rupert ... Nov. 9: Assigned Kris Murray and Rayan Rupert to the Rip City Remix ... Oct. 24: Signed Duop Reath to a two-way contract ... Waived Ibou Badji ... Oct. 21: Converted the contract of Justin Minaya to a two-way contract ... Waived John Butler Jr., George Conditt IV, Kevin Knox II and Duop Reath . Oct. 10: Signed George Conditt IV ... Waived Antoine Davis and Malachi Smith ... Oct. 2: Re-signed Kevin Knox II and signed Antoine Davis, Justin Minaya, Duop Reath and Malachi Smith ... Oct. 1: Acquired Malcolm Brogdon and Robert Williams III, Golden State's 2024 first round pick and a 2029 first round pick from Boston in exchange for Jrue Holiday ... Sept. 27: Acquired Deandre Ayton and Toumani Camara from Phoenix in exchange for Keon Johnson, Nassir Little and Jusuf Nurkic in a three-team trade in which Portland also acquired Jrue Holiday, a 2029 first round pick and the right to swap first round picks in 2028 and 2030 from Milwaukee in exchange for Damian Lillard ... Aug. 22: Signed Moses Brown ... July 28: Waived Jeenathan Williams ... July 10: Re-signed Matisse Thybulle ... July 9: Re-signed Jerami Grant ... July 6: Re-signed Ibou Badji and John Butler Jr. ... June 30: Waived Trendon Watford ... June 22: Drafted Scoot Henderson with the No. 3 pick, Kris Murray with the No. 23 pick and Rayan Rupert with the No. 43 pick in the 2023 NBA Draft

ODAY'S OPPONENT: SACRAMENTO KINGS



			PORTLAND	TRAIL BL	AZEF	RS AT SAC	RAMENTO) KINGS - A	PRIL 14, i	2024				
2023-24 R	EGULA	R SEASON P	PG OPP. P	PG FG'	%	3FG%	FT%	RPG	APG	SPG		TO	BPG	SACRAF
Trail Blaze	ers	10	06.7 115.3	3.44	0	.348	.791	42.6	23.2	7.60		15.2	4.35	KIU
Kings		11	16.5 115.	2.47	6	.366	.744	43.9	28.3	7.58		13.1	4.15	
2023-24 R	EGULA	R SEASON INDIVIDUAL BEST	ſS	2023-24 F	REGULA	R SEASON KIN	GS BESTS		2023-24	REGULAR S	SEASON	TEAM		
Points	38	Jerami Grant @ SAC 11/8/	/23	Points	43	De'Aaron Fo	x vs. SAC 12/2	26/23	Biggest W	/in	17	vs. SAC 12	2/26/23	
Rebounds	11	Moses Brown vs. SAC 12/2	26/23	Rebounds	12	Domantas S	Sabonis vs. SA	C 12/26/23	Biggest L	055	3	@ SAC 11	/8/23	
Assists	11	Scoot Henderson vs. SAC 1 Mays @ SAC 11/8/23	12/26/23, Skylar	Assists	10	Malik Monk	@ SAC 11/8/2	23						

2023-24 REG	ULAR SEASON VS. KINI	GS	2022-23 REG	ULAR SEASON VS. KIN	GS	SERIES	HISTORY VS. I	KINGS		
DATE	SITE	TIME/RESULT	DATE	SITE	RESULT		ALL-TIME	STREAKS	LAST WIN	LAST LOSS
11/8/23	Sacramento	L, 118-121 (OT)	10/19/22	Sacramento	W, 115-108	Overall	141-87	Won 1	12/26/23	11/8/23
12/26/23	Portland	W, 130-113	2/23/23	Sacramento	L, 116-133	Home	91-22	Won 1	12/26/23	3/31/23
4/14/24	Sacramento	12:30 pm	3/29/23	Portland	L, 80-120	Road	50-65	Lost 2	10/19/22	11/8/23
			3/31/23	Portland	L, 114-138					

SERIES NOTES:

- The Trail Blazers and Kings will meet for the third and final time of the regular season on April 14 in Sacramento.

- LAST MATCHUP: Portland defeated Sacramento by a final score of 130-113 on Dec. 26 in Portland. Anfernee Simons finished with 29 points (12-25 FG,

5-12 3-PT), four rebounds, three assists and one steal in 35 minutes.
THIS SEASON: The 2023-24 season series between the Trail Blazers and Kings is tied, 1-1.
LAST SEASON: Portland lost the 2022-23 season series against Sacramento, 1-3.
Deandre Ayton has recorded a double-double in his last eight games against the Kings.

- Twin brothers Kris Murray and Keegan Murray are the eighth pair of twins in NBA history.

PORTLAND VS. SACRAMENTO 2023-24 SEASON PREVIOUS GAMES

		T	RAIL BL	AZERS 1	30, KING	S 113 – D	ECEMB	ER 26, 20	023 — M()DA CENT	ER — PO	RTLAND,	OR – GA	ME #29 (8-21, 4-	10 HOME)		
TEAM	1	2	3	4	OT	FINAL	FG	FGA	FG%	3FG%	FT%	OR	DR	TR	А	PF	ST	TO	BS
SAC	33	27	35	18	-	113	45	93	.484	.238	.813	11	29	40	25	16	5	12	7
POR	32	35	37	26	-	130	49	98	.500	.400	.800	16	30	46	28	17	5	10	5
TEAM		HIGH PTS			HIGH REI	3		HIGH AS	ST	TEAI	N	HIGH PT	S		HIGH REE	}		HIGH AST	
POR	A	A. Simons: 29 M. Brown: 11		S. Henderson: 11			SAC	;	D. Fox: 4	3	D.	Sabonis:	12	[D. Sabonis:	5			

		KI	NGS 121	, TRAIL	BLAZERS	118 – N	OVEMBE	R 8, 2023	3 <mark>- Gol</mark> i	DEN 1 CE	NTER — S	ACRAME	NTO, CA	– GAME	#8 (3-5,	2-3 AWA	Y)		
TEAM	1	2	3	4	OT	FINAL	FG	FGA	FG%	3FG%	FT%	OR	DR	TR	Α	PF	ST	TO	BS
POR	29	31	24	27	7	118	44	87	.506	.364	.759	7	29	36	26	29	10	18	5
SAC	34	22	29	26	10	121	41	89	.461	.297	.737	15	35	50	32	24	11	21	6
TEAM		HIGH PTS		ŀ	IIGH REB		H	IGH AST		TEAM	H	IGH PTS			HIGH REB			HIGH AST	Ī
POR	J. Grant: 38 D. Ayton: 10		S. I	Mays: 11		SAC		D. Sabonis: 27		D. Sabonis: 11				M. Monk: 1	.0				







SEEING 20/10: Deandre Ayton logged his 20th game this season with at least 20 points and 10 rebounds vs. Golden State on April 11, marking the most such games he has had in a season.

Ayton's most games with at least 20/10 by season: 2023-24: 20 2022-23: 19 2018-19: 15

TISSE-FENSE: Matisse Thybulle ranks in the top eighth NBA players for several defensive stats.

Blocked Three-Pointers - First (25) Steal/Turnover Ratio - First (2.83) Deflections Per 36 - First (5.3) Steals Per 36 - First (2.7) Steals Per 100 Possessions - First (3.7) Steals Per Game - Third (1.7) Total Steals - Fourth (tie) (113) Deflections Per Game - Fourth (3.4) Total Deflections - Eighth (220)

TOO MANY BUCKETS: Toumani Camara is one of only two rookies this season who have recorded at least 350 points, 340 rebounds, 65 steals and 35 3PM (Victor Wembanyama).

Among rookies drafted in the second round, he ranks first in: Steals Per Game (0.9) Total Rebounds (343) Total Assists (87) Total Steals (66)

GETTING DEFENSIVE: Portland ranks fifth in the NBA this season in opponent turnovers per game (14.3), ninth in deflections per game (15.0) and ninth in total deflections (1,219).

Most Opponent Turnovers Per Game:

- 15.7 Oklahoma City
- 15.1 Orlando
- 15.0 Memphis
- 14.7 Philadelphia
- 14.3 Portland

Most Deflections Per Game:

- 16.3 Memphis
- 16.2 Oklahoma City
- 16.2 Philadelphia
- 15.6 Minnesota
- 15.5 Houston
- 15.4 New Orleans
- 15.2 Chicago
- 15.1 Orlando
- 15.0 Portland

- Most Total Deflections: 1,317 - Memphis 1,312 - Oklahoma City 1,311 - Philadelphia 1,266 - Minnesota 1,255 - Houston 1,248 - New Orleans 1,229 - Chicago 1,227 - Orlando
- 1,219 Portland

DISHING DIMES: Scoot Henderson's career-high 15 assists vs. New Orleans on April 9 marked the most assists recorded by a rookie in a game this season and the most assists logged in a game by a rookie in Trail Blazers history. He became the youngest player (20 years, 66 days) with at least 15 assists in a game since Trae Young (20 years, 61 days) had 17 on Nov. 19, 2018.

HIS NAME IN NAISMITH: Trail Blazers Head Coach Chauncey Billups has been named to the Naismith Basketball Hall of Fame Class of 2024.

Billups, 47, played 17 seasons and averaged 15.2 points, 2.9 rebounds and 5.4 assists in 1,043 games for seven teams: Boston, Toronto, Denver, Minnesota, Detroit, New York and the LA Clippers. Billups ranks seventh all-time in NBA history for his career free-throw percentage (.894) and was named the NBA Finals Most Valuable Player in 2004 when he led Detroit to an NBA Championship.

FOURTH TIME'S A CHARM: Scoot Henderson posted 22 points and 10 assists at Charlotte on April 3, marking his fourth game this season with at least 20 points and 10 assists. He remains the only rookie to record 20-plus points and 10-plus assists in a game this season, and he has now done so four times. Henderson also tied Damian Lillard for the second-most games with at least 20 points and 10 assists by a rookie in Trail Blazers history.

Henderson's games with at least 20 points and 10 assists: April 3 at Charlotte: 22 points, 10 assists March 22 vs. LA Clippers: 24 points, 10 assists Dec. 29 vs. San Antonio: 22 points, 11 assists Dec. 14 vs. Utah: 23 points, 10 assists

Most games with at least 20 points/10 assists, team history: 1. Kelvin Ransey (1980-81) - 8 2. Damian Lillard (2012-13) - 4 **2. Scoot Henderson (2023-24) - 4** 4. Geoff Petrie (1970-71) - 3

RUNNIN' WITH THE ROOKS: Portland's starting lineup vs. Denver on March 23 marked just the second time in NBA history that a team started five rookies since starters were first tracked on league box scores in 1970-1971.







Portland's starting lineup on March 23, 2024: Kris Murray Toumani Camara Duop Reath Rayan Rupert Scoot Henderson

Golden State's starting lineup on April 26, 2012: Chris Wright Mickell Gladness Jeremy Tyler Charles Jenkins Klay Thompson

TRACKING TRIPLES: With his first three-pointer vs. the Clippers on March 22, Anfernee Simons passed Nicolas Batum to move up to the fifth spot on the Trail Blazers' all-time 3PM list.

Most career three-pointers, team history:

- 1. Damian Lillard 2,387
- 2. CJ McCollum -1,297
- 3. Wesley Matthews 826
- 4. Terry Porter 773
- 5. Anférnee Simons 752
- 6. Nicolas Batum 751
- 7. Damon Stoudamire 717

ANT MAN: Anfernee Simons recorded 30 points, nine assists and three rebounds at Chicago on March 18, marking his 30th career game with at least 30 points and passing Jim Paxson to move up to the ninth spot for the most games with 30-plus points in Trail Blazers history.

Most career games with 30-plus points, team history:

- 1. Damian Lillard 232
- 2. Clyde Drexler 130
- 3. Geoff Petrie 75
- 4. Kiki Vandeweghe 66
- 5. CJ McCollum 63
- 6. Sidney Wicks 55
- 7. LaMarcus Aldridge 55
- 8. Clifford Robinson 34
- 9. Anfernee Simons 30
- 10. Jim Paxson 29

FROM DOWNTOWN: Anfernee Simons tallied his 53rd career game with at least five 3PM at New Orleans on March 16, which ranks third in Trail Blazers history.

Most career games with five-plus 3PM, team history:

- 1. Damian Lillard 160
- 2. CJ McCollum 62
- 3. Anfernee Simons 53
- 4. Wesley Matthews 38

THE AYTON DEMONSTRATION: Deandre Ayton posted his seventhstraight double-double vs. New York on March 14 with 31 points and 14 rebounds, tying his longest streak of double-doubles in his career. His three consecutive games of 20-plus points and 15-plus rebounds from March 9-13 tied the longest streak in the NBA this season (Jokic, Sabonis) and the second-longest streak in Trail Blazers history (Walton, Wicks).

Ayton totaled 85 points and 53 rebounds over three games from March 9-13, joining Bill Walton as the only Trail Blazers with 80-plus points and 50-plus rebounds over a three-game stretch in team history.

March 14 vs. New York: 31 points, 14 rebounds March 13 vs. Atlanta: 33 points, 19 rebounds March 11 vs. Boston: 22 points, 15 rebounds March 9 vs. Toronto: 30 points, 19 rebounds Feb. 27 vs. Miami: 12 points, 10 rebounds Feb. 25 vs. Charlotte: 26 points, 19 rebounds Feb. 23 vs. Denver: 22 points, 10 rebounds

DOMIN-AYTON: Deandre Ayton recorded a season-high 30 points (14-25 FG, 0-1 3-PT, 2-2 FT) to go along with 19 rebounds, one assist, two steals and one block in 40 minutes vs. Toronto on March 9, marking his fourth-straight double-double.

It was his first career game with at least 30 points and 19 rebounds. He became just the third player this season to reach those numbers in a game (LeBron James, Nikola Jokic).

IT'S KRIS-TAL CLEAR: Kris Murray posted 12 points, a careerhigh 11 rebounds, a career-high seven assists and one block vs. Houston on March 8, marking his first career double-double. He became just the second rookie this season with 12/11/7 in a game (Wembanyama) and the first Trail Blazers rookie with those stats since Clyde Drexler on March 27, 1984.

ANFERNO: Anfernee Simons tallied a game-high 34 points (13-26 FG, 5-13 3-PT, 3-3 FT) and a career-high 14 assists to go along with five rebounds in 43 minutes at Minnesota on March 4, becoming just the fifth player in the NBA to record 34-plus points and 14-plus assists in a game this season (Luka Doncic, Nikola Jokic, Tyrese Haliburton, Trae Young).

WALKING IN MEMPHIS: Jabari Walker logged consecutive doubledoubles for the first time in his career in back-to-back games at Memphis on March 2 (18 points, 12 rebounds) and March 1 (19 points, 10 rebounds).

RISING STARS: Trail Blazers guards Shaedon Sharpe and Scoot Henderson were selected to participate in the 2024 Panini Rising Stars game. It was Sharpe's first selection and Henderson's third. The 2024 Panini Rising Stars game took place on Friday, Feb. 16 at NBA All-Star Weekend in Indianapolis.





`

A CAREER NIGHT: Jerami Grant posted a career-high 49 points (14-29 FG, 3-6 3-PT, 18-20 FT) to go along with eight rebounds and six assists vs. Detroit on Feb. 8, becoming just the second player in Trail Blazers history to record at least 49-8-6 in a game (Damian Lillard - Jan. 20, 2020).

COOK, ROOK: With a game-high 30 points (8-15 FG, 3-7 3-PT, 11-12 FT) at Denver on Feb. 2, Scoot Henderson became the first Trail Blazers rookie since Damian Lillard to record 30-plus points in multiple games (33 on Jan. 14). His 30 points marked the most points scored by a rookie off the bench this season. Henderson also became just the second rookie to rookie multiple 20-point halves this season with 20 points in the first half.

40 LOOKS GOOD ON HIM: With 40 points and 10 assists at San Antonio on Jan. 26, Anfernee Simons became the sixth player in Trail Blazers history to record 40-plus points and 10-plus assists in a game. Simons tied the fifth spot for the most games with at least 40 points in franchise history.

Most games with 40-plus points, team history:

- 1. Damian Lillard 55
- 2. Clyde Drexler 17
- 3. Geoff Petrie 13
- 4. CJ McCollum 8
- 5. Kiki Vandeweghe 4
- 5. Brandon Roy 4
- 5. Anfernee Símons 4

A FIRST IN NBA HISTORY: The Trail Blazers became the first team in NBA history during the regular season or postseason to win a game while making four or fewer threes while the other team made 20-plus threes vs. Indiana on Jan. 19.

BACK-TO-BACK 30 PIECES: Jerami Grant posted 37 points, four rebounds, three assists, two blocks and one steal vs. Indiana on Jan. 19. It was his first time recording back-to-back games with 30-plus points as a Trail Blazer and the third time he has done so in his career.

SCOOTING UP: With a career-high 33 points (11-31 FG, 4-9 3-PT, 7-9 FT) and three steals (tie) to go along with seven rebounds and nine assists vs. Phoenix on Jan. 14, Scoot Henderson became just the sixth rookie in NBA history to record at least 33 points, seven rebounds, nine assists and three steals in a game and the first rookie to do so since Stephen Curry in 2010.

MATHIEF: Matisse Thybulle recorded at least one steal in 27 consecutive games from Nov. 15-Jan. 12, marking the longest streak of his career, the second-longest streak in the NBA this season and the third longest streak (tie) in Trail Blazers history.

Longest streaks of games with one-plus steals, team history: Clyde Drexler - 37 Clyde Drexler - 37 Clyde Drexler - 28 Clyde Drexler - 27 Clyde Drexler - 27

Matisse Thybulle - 27

DUOP THREETH: With 34 three-pointers made in his first 25 appearances of the regular season, Duop Reath scored more threes than any rookie center in his first 25 career games in NBA history, passing Joel Embiid's previous record of 28.

THE GREAT BARRIER REATH: With a career-high 25 points (9-15 FG, 3-6 3-PT, 4-4 FT) and a career-high nine rebounds vs. Sacramento on Dec. 26, Duop Reath became just the third Trail Blazers rookie to post 25-plus points and nine-plus rebounds off the bench since 1975.

Dec. 26, 2023 - Duop Reath (25 points, nine rebounds)

Feb. 28, 1996 - Arvydas Sabonis (26 points, 10 rebounds) Jan. 22, 1975 - Bill Walton (25 points, 11 rebounds)

SIMONS SAYS: Anfernee Simons recorded a season-high 41 points (15-28 FG, 7-14 3-PT, 4-5 FT) to go along with four rebounds and seven assists vs. Washington on Dec. 21, marking the second-most points he has scored in a game and his third career game with 40-plus points. His 22 points in the fourth were a career high for the fourth quarter.

Simons' highest scoring games of his career:

- 45 Dec. 3, 2022 at Utah
- 45 Jan. 3, 2022 vs. Atlanta
- 41 Dec. 21, 2023 vs. Washington

SCOOT OVER: Scoot Henderson posted his first career doubledouble vs. Utah on Dec. 14 with 23 points and 10 assists. He became the first rookie in the NBA this season to record 20-plus points and 10-plus assists in a game.

CENTER STREAK: Duop Reath recorded a three-pointer in 10 consecutive games through Dec. 14, passing Meyers Leonard for the longest streak of games with a three by centers in franchise history.

Longest streaks with a three-pointer, Blazers centers:

10 - Duop Reath (Nov. 21-Dec. 14, 2023)

- 9 Meyers Leonard (Nov. 4-Nov. 21, 2021)
- 9 Meyers Leonard (Jan. 4-Jan. 20, 2016)

SHAE'S SHINING: Shaedon Sharpe averaged 26.2 points, 6.6 rebounds and 5.0 assists over five games from Nov. 30-Dec. 11, becoming just the eighth 20-year-old in NBA history to average 25-5-5 over a five-game stretch.







Among players to average at least 25 points, five rebounds and five assists at age 20 or younger, only LeBron James has had a higher true shooting percentage than Sharpe (67.9).

FROM DISTANCE: Matisse Thybulle logged his 17th career game with at least three 3PM at the LA Clippers on Dec. 11 and his ninth with Portland, passing his total number of games with three or more 3PM during his time with Philadelphia (8).

Thybulle's career games with three-plus 3PM through Dec. 11: With Portland: 9 of 44 games With Philadelphia: 8 of 245 games

SHARPE SHOOTING: Shaedon Sharpe tallied his fifth consecutive game with 24-plus points at the LA Clippers on Dec. 11, marking his longest streak of 24-plus point games in his career.

Dec. 11 at LA Clippers: 27 points Dec. 8 vs. Dallas: 24 points Dec. 6 at Golden State: 26 points Dec. 2 at Utah: 25 points Nov. 30 at Cleveland: 29 points

CALL IT A COMEBACK: After missing 18 games due to a ligament tear in his right thumb, Anfernee Simons returned to action at Golden State on Dec. 6, recording a team-high 28 points to go along with four assists. His six threes marked his 42nd career game with five or more 3PM, which is the third most in Trail Blazers history.

IN GOOD COMPANY: With 420 points, 17 blocks and 16 steals in 19 games, Jerami Grant was one of just six players to record 400-plus points, 15-plus steals and 15-plus blocks from the start of the regular season through Dec. 2 (N. Jokic, G. Antetokounmpo, S. Gilgeous-Alexander, J. Embiid, A. Davis).

RAINING THREES: Portland shot 40% or better from threepoint range in five consecutive games from Nov. 21-30 for the first time since 2017. The Trail Blazers shot 43.2% from three over that span of games, improving their three-point field goal percentage from 30.5% over the team's first 13 games.

Portland's three-point field goal percentage, Nov. 21-30: Nov. 30 at Cleveland: 40% Nov. 27 at Indiana: 50% Nov. 26 at Milwaukee: 40.6% Nov. 22 vs. Utah: 43.6% Nov. 21 at Phoenix: 45.2%

THE SHARPER IMAGE: Shaedon Sharpe recorded his first career double-double at Cleveland on Nov. 30 with a teamhigh 29 points (11-15 FG, 4-7 3-PT, 3-3 FT) and a career-high 10 rebounds to go along with five assists. **8,000 AND COUNTING:** Jerami Grant recorded 34 points at Indiana on Nov. 27, surpassing 8,000 career points and marking his third game with 30-plus points this season.

His 17 points in the fourth quarter tied the third-highest scoring quarter of his career.

Highest scoring quarters in Grant's career:

- 21 Third quarter at Houston, Nov. 10, 2021
- 19 Fourth quarter vs. Chicago, Feb. 17, 2021
- 17 Third quarter at Detroit, March 6, 2023
- 17 Fourth quarter at Indiana, Nov. 27, 2023

30 ON 13: Jerami Grant posted a game-high 30 points (10-13 FG, 5-6 3-PT, 5-6 FT) on Nov. 22 vs. Utah, becoming the first Blazer with 30-plus points on 13 field goal attempts or fewer since CJ McCollum on March 25, 2017. It was his second game with 30-plus points this season.

WALK THE WALK: Jabari Walker recorded a career-high 19 points and a career-high 10 rebounds to go along with two steals on Nov. 22 vs. Utah, marking his first career double-double.

DOUBLE-DOUBLES FOR DEANDRE: Deandre Ayton logged seven double-doubles in his first 12 games to begin the regular season.

Nov. 17 vs. Los Angeles Lakers: 17 points, 12 rebounds Nov. 14 at Utah: season-high 22 points, 10 rebounds Nov. 8 at Sacramento: 18 points, 10 rebounds Nov. 3 vs. Memphis: 16 points, 12 rebounds Nov. 1 at Detroit: 16 points, 11 rebounds Oct. 30 at Toronto: 10 points, career-high 23 rebounds Oct. 27 vs. Orlando: 14 points, 15 rebounds

1,000 POINT CLUB: With his sixth point vs. the Lakers on Nov. 17, Shaedon Sharpe crossed the 1,000 point mark, becoming the youngest player in franchise history to reach 1,000 career points.

20 years, 171 days - Shaedon Sharpe

20 years, 300 days - Sebastian Telfair 20 years, 333 days - Martell Webster 21 years, 304 days - Anfernee Simons 21 years, 347 days - Nicolas Batum

DON'T TAKE HIM FOR GRANTED: Jerami Grant recorded 20-plus points in seven games from Oct. 30-Nov. 14, tying his second-longest streak of 20-plus point games in his career.

Longest steaks of 20-plus point games in Grant's career: 14 games - Dec. 26-Jan. 22 with Detroit 7 games - Nov. 23-Dec. 4 with Portland 7 games - Oct. 30-Nov. 14, 2023 with Portland

5 games - March 11-23, 2022 with Detroit







A G LEAGUE DEBUT TO REMEMBER: With 37 points, 10 rebounds and two blocks in his first game with the Rip City Remix at South Bay on Nov. 10, Duop Reath became only the second player in G League history to record 37-plus points, 10-plus rebounds and two-plus blocks in a G League debut since Bernard James of the Texas Legends in 2014.

HAVE A DAY, SHAE: Shaedon Sharpe recorded 29 points at Detroit on Nov. 1, tied for the second-most points he has scored in a game. His 26 points in the second half and 15 points in the third quarter set new career highs.

BIG BOARDS: Deandre Ayton had a career-high 23 rebounds at Toronto on Oct. 30, which was the most rebounds recorded by any player in the league this season. It was his fifth career game with 20-plus rebounds.

Most rebounds in a game, 2023-24 (through Nov. 8):

23 - Deandre Ayton, Oct. 30

21 - Rudy Gobert, Nov. 8

20 - Nikola Vucevic, Nov. 1



FRAIL BLAZERS LAST FIVE GAMES



		IOME)	11-30 HON	21-60, 1 [°]	IE #81 ()	R – GAN	TLAND, O	– POR	A CENTER	– MOD	. 12, 2024	– APRIL	ERS 107	RAIL BLAZ	116, TF	ROCKETS			
TO BS	ST TO	PF	PF	A	TR	DR	OR	FT%	3FG%	FG%	FGA	FG	FINAL	OT	4	3	2	1	TEAM
9 5	3 9	20	5 20	25	48	38	10	.850	.282	.478	92	44	116	-	32	30	31	23	HOU
7 5	4 7	14) 14	20	48	32	16	.724	.343	.389	95	37	107	-	32	35	16	24	POR
HIGH AST	HIGH AS		EB	HIGH REI			HIGH PTS		TEAM		HIGH AST		B	HIGH RE		S	HIGH PT		TEAM
Thompson: 6	A. Thompso		on: 15	A. Thompsor	A	ŝ	J. Green: 26		HOU	n: 7	S. Henderso		: 10	D. Banton		n: 30	S. Henderso		POR
Thomps			on: 15	A. Thompson	A	-	J. Green: 26	22 50	HOU	n: 7		llandar	: 10	D. Banton		n: 30		fall to 1	POR

Portland fell to Houston by a final score of 116-107 ... Scoot Henderson recorded 30 points (10-23 FG, 6-7 3-PT, 4-5 FT), five rebounds, seven assists, one steal and one block in 34 minutes ... Dalano Banton finished with 28 points (9-26 FG, 2-10 3-PT, 8-9 FT), 10 rebounds, three assists, one steal and two blocks in 38 minutes ... Kris Murray posted 10 points (4-11 FG, 1-7 3-PT, 1-1 FT), seven rebounds and two assists in 43 minutes ... Duop Reath logged 10 points (3-7 FG, 1-2 3-PT, 3-4 FT), four rebounds and two blocks in 19 minutes ... Jalen Green led the Rockets with 26 points to go along with nine rebounds and one assist in 35 minutes.

		V	VARRIOR	S 100, T	RAIL BLA	ZERS 92	– APRIL	. 11, 2024	4 – MOD	A CENTER	l – PORT	LAND, O	R — GAMI	E #80 (2 1	1-59, 11-	29 HOME)		
TEAM	1	2	3	4	OT	FINAL	FG	FGA	FG%	3FG%	FT%	OR	DR	TR	A	PF	ST	TO	BS
GSW	24	25	26	25	-	100	36	77	.468	.343	.800	10	36	46	24	18	8	16	13
POR	22	24	28	18	-	92	35	97	.361	.235	.824	20	29	49	22	18	9	13	3
TEAM		HIGH PTS			HIGH REB			HIGH AST	ſ	TEAM		HIGH P	TS		HIGH RE	В		HIGH AS	T
POR		D. Ayton: 25	j	J	. Walker: 16	ì	S	. Hendersor	n: 12	GSW		S. Curry:	22		K. Looney	: 11		S. Curry:	8

The Trail Blazers fell to the Warriors by a final score of 100-92 ... **Deandre Ayton** logged 25 points (12-24 FG, 0-1 3-PT, 1-1 FT), 11 rebounds, one assist, three steals and one block in 34 minutes ... **Scoot Henderson** recorded 18 points (7-20 FG, 2-8 3-PT, 2-3 FT), three rebounds, 12 assists and two steals in 40 minutes ... **Jabari Walker** tallied 17 points (6-14 FG, 2-3 3-PT, 3-4 FT), 16 rebounds, one assist and one steal in 36 minutes ... **Kris Murray** posted 14 points (4-12 FG, 1-7 3-PT, 5-6 FT), four rebounds, two assists, one steal and one block in 45 minutes ... **Stephen Curry** led Golden State with 22 points and eight assists to go along with seven rebounds, one steal and two blocks in 36 minutes.

		ł	PELICAN	S 110, TR	AIL BLA	ZERS 100	– APRIL	9, 2024	- MOD/	A CENTER	– PORT	LAND, OF	R – GAME	#79 (21	-58, 11-	28 HOME)		
TEAM	1	2	3	4	OT	FINAL	FG	FGA	FG%	3FG%	FT%	OR	DR	TR	A	PF	ST	TO	BS
NOP	28	24	35	23	-	110	36	87	.414	.306	.931	13	32	45	25	9	13	9	2
POR	27	28	23	22	-	100	40	85	.471	.342	.875	13	34	47	28	19	3	22	3
TEAM	HI	GH PTS		HIGH REB		HIG	H AST	TI	AM	HIGH	PTS		HI	GH REB			HIG	IH AST	
POR	D. A	Ayton: 30		D. Ayton: 13	3	S. Hend	erson: 15	N	OP	T. Murphy	III: 31	1	F. Murphy III	/J. Valanciı	ınas: 8	D	. Daniels/J.	Valanciuna	as: 5

Portland fell to New Orleans by a final score of 110-100 ... **Deandre Ayton** logged 30 points (15-22 FG, 0-1 3-PT), 13 rebounds, one assist and one steal in 36 minutes, marking his 19th game with at least 20 points and 10 rebounds this season and tying the most such games he has had in a season (2022-23) ... **Scoot Henderson** recorded 19 points (7-18 FG, 2-10 3-PT, 3-3 FT), three rebounds, a career-high 15 assists and one steal in 41 minutes, marking the most assists by a rookie in a game in Trail Blazers history ... **Kris Murray** posted 14 points (4-8 FG, 4-6 3-PT, 2-2 FT), five rebounds, two assists, one steal and two blocks in 37 minutes ... **Dalano Banton** and **Duop Reath** also scored in double figures with 12 points each ... **Trey Murphy III** led the Pelicans with 31 points, eight rebounds and two steals in 38 minutes.

			CELT	ICS 124,	TRAIL B	LAZERS 1	07 – AP	RIL 7, 20	24 – TD	GARDEN	– BOSTO	N, MA —	GAME #7	8 (21-57	, 10-30	AWAY)			
TEAM	1	2	3	4	OT	FINAL	FG	FGA	FG%	3FG%	FT%	OR	DR	TR	A	PF	ST	TO	BS
POR	24	32	29	22	-	107	40	102	.392	.368	1.000	22	31	53	26	12	8	15	2
BOS	30	33	30	31	-	124	49	87	.563	.421	.769	5	35	40	34	12	11	13	8
TEAM	HIGH PTS HIGH REB				B		HIGH AST		TEAM		HIGH PTS			HIGH REE	3		HIGH AST		
POR	D. Banton: 28 J. Walker: 18				18		D. Banton:	9	BOS		J. Brown: 26	6	ł	(. Porzingis:	: 10		D. White:	9	

The Trail Blazers fell to the Celtics by a final score of 124-107 ... Portland outscored Boston 21-7 in second-chance points ... **Dalano Banton** finished with 28 points (11-23 FG, 3-9 3-PT, 3-3 FT), three rebounds, nine assists and one steal in 37 minutes ... **Deandre Ayton** logged 22 points (11-23 FG, 0-1 3-PT), 14 rebounds, two assists, two steals and one block in 35 minutes ... **Jabari Walker** tallied 14 points (5-16 FG, 0-3 3-PT, 4-4 FT), 18 rebounds and one steal in 34 minutes in his third consecutive double-double and fourth-straight game with 10-plus points, both marking the longest streaks of his career ... **Scoot Henderson** recorded 15 points (3-13 FG, 3-7 3-PT, 6-6 FT), one rebound, eight assists and two steals in 36 minutes ... **Kris Murray** posted 10 points (4-9 FG, 2-4 3-PT), seven rebounds, two assists and one steal in 26 minutes ... **Jaylen Brown** led the Celtics with 26 points to go along with four rebounds, two assists, one steal and one block in 30 minutes.

		TRAI	L BLAZE	RS 108, V	WIZARDS	5 102 – Al	PRIL 5, 2	2024 – C	APITAL (DNE AREN	A - WAS	HINGTON	I, DC – G	AME #77	7 (21-56,	10-29 A	WAY)		
TEAM	1	2	3	4	OT	FINAL	FG	FGA	FG%	3FG%	FT%	OR	DR	TR	A	PF	ST	TO	BS
POR	32	27	27	22	-	108	41	94	.436	.310	.708	16	39	55	29	23	7	13	5
WAS	27	24	30	21	-	102	38	88	.432	.152	.700	12	33	45	24	21	9	10	5
TEAM	HIGH PTS				HIGH RI	EB		HIG	H AST	TE/	M	HIGH	PTS		HIGH	REB		HIGH AS	T
POR	D. Ayton: 34		D.	. Ayton/J. Wa	alker: 13		D. Ba	nton: 8	W	IS	D. Avd	ija: 22		D. Avdij	a: 12		J. Poole:	9	

Portland defeated Washington by a final score of 108-102 ... **Deandre Ayton** logged a season-high 34 points (13-25 FG, 8-9 FT) to go along with 13 rebounds, three assists, two steals and two blocks in 40 minutes ... **Dalano Banton** finished with 21 points (8-20 FG, 2-6 3-PT, 3-5 FT), eight rebounds and eight assists in 34 minutes ... **Scoot Henderson** recorded 19 points (8-14 FG, 2-4 3-PT, 1-1 FT), three rebounds, seven assists and one steal in 30 minutes ... **Kris Murray** posted 13 points (6-13 FG, 1-5 3-PT, 0-1 FT) and five rebounds in 28 minutes ... **Jabari Walker** tallied 11 points (2-6 FG, 2-4 3-PT, 5-8 FT), 13 rebounds and three assists in 39 minutes ... **Deni Avdija** led the Wizards with 22 points, 12 rebounds and two blocks in 39 minutes.





Chauncey Billups was hired as the 15th head coach in Trail Blazers history on June 27, 2021. The 2023-24 campaign marks his third season as head coach of the team.

Billups joined the Trail Blazers after spending the 2020-21 season as an assistant coach with the Los Angeles Clippers. As a part of head coach Tyronn Lue's staff, Billups helped coach the Clippers to a regular season record of 47-25 (.653) and a trip to the Western Conference Finals.

A proven leader as both a coach and a player, Billups had a 17-year playing career for Boston, Toronto, Denver, Minnesota, Detroit, New York and the Clippers. In 2004 he was named the NBA Finals MVP after leading Detroit to an NBA Championship. A five-time All-Star, Billups was named All-NBA Second Team in 2006 and All-NBA Third Team in 2007 and 2009. He also received NBA All-Defensive Second Team honors in 2005 and 2006. In addition to his playing accolades, Billups was awarded the J. Walter Kennedy Citizenship Award in 2008, the NBA Sportsmanship Award in 2009, and the inaugural Twyman-Stokes Teammate of the Year Award in 2013. Billups' No. 1 jersey was retired by the Pistons in 2016. For his career, Billups averaged 15.2 points, 2.9 rebounds and 5.4 assists in 1,043 games.

After retiring as a player following the 2013-14 season, Billups worked as a studio analyst and game analyst for ESPN. During the 2019-20 season, Billups served as the game analyst for Los Angeles Clippers broadcasts on FOX Sports Prime Ticket.

Billups is a native of Denver, Colorado and attended the University of Colorado (1995-97) where he was a consensus second-team All-American in his second season. He and his wife, Piper, have three daughters.

	CHAUNCEY BILLUPS' OVER REGULAR SEASO		
2021-22	Trail Blazers	27-55	.329
2022-23	Trail Blazers	32-49	.395
2023-24	Trail Blazers	22-60	.268
	TOTALS	81-164	.331

2023-24 COACHES CHALLENGE	TOTAL	SUCCESSFUL	UNSUCCESSFUL	PCT
Portland Trail Blazers	30	14	16	46.7%





#2	Deandre Ayton	

RI ATERS	enter • i	7-0•24	7lbs • 7/	23/98 •	Arizona/	Bahama	IS									6th Year P	ro
	GP	GS	PPG	RPG	APG	SPG	BP	G	MPG	F	3%	3F(3%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	55	55	16.7	11.1	1.6	1.02	0.7	6	32.4	.5	70	.1(00	.823	PTS	34 at WAS 4/5/24	35 2 times (@ BKN, 2/7/23)
Career	358	351	16.7	10.5	1.6	0.73	0.9	5	30.9	.5	92	.24	14	.761	FGM	15 2 times (vs. NOP, 4/9/24)	16 vs. DEN 12/29/18
	POIN	ITS			REB	AST	BL	K	STL						FGA	25 2 times (@ WAS, 4/5/24)	27 at MIL 2/2/20
	10	-	20+	30+	10+	10+	3+		3+	DF	SL-DI	RI	TPI	-DBL	3FGM	1 vs. NYK 3/14/24	2 2 times (vs. POR, 11/4/22)
2023-24	43		22	5	35		1		6		32			-	3FGA	2 vs. HOU 4/12/24	3 2 times (vs. DEN, 10/20/21)
Career	29		118	14	210		31		17	+	193				FTM	8 at WAS 4/5/24	10 2 times (@ BOS, 1/18/20)
	-	5	110	14	210		51		17		155				FTA	9 at WAS 4/5/24	14 vs. LAL 3/2/19
RECENT GAME	S														OREB	10 vs. WAS 12/21/23	10 3 times (vs. WAS, 12/21/23)
OPPONENT	W/L	MIN	FG-/	A 3P-	A FT-A	A OR	DR	TR	A	PF	ST	TO	BS	PTS	DREB	16 2 times (vs. CHA, 2/25/24)	16 4 times (vs. CHA, 2/25/24)
4/12 vs. HOU	L	22:40	3-10) 0-2	2 0-0	0	2	2	1	1	1	2	0	6	TREB	23 at TOR 10/30/23	23 at TOR 10/30/23
4/11 vs. GSW	L	33:47	12-2	4 0-1	1-1	1	10	11	1	0	3	1	1	25	ASTS	4 2 times (@ DEN, 2/4/24)	8 at UTA 11/18/22
4/9 vs. NOP	L	35:40	15-2	2 0-1	0-0	3	10	13	1	2	1	3	0	30	STLS	5 at DET 11/1/23	5 at DET 11/1/23
4/7 at BOS	L	35:04	11-2	3 0-1	. 0-0	7	7	14	2	1	2	0	1	22	BLKS	3 vs. NOP 2/10/24	5 2 times (@ CLE, 5/4/21)
4/5 at WAS	W	40:27	13-2	5 0-0	8-9	3	10	13	3	0	2	2	2	34	mins	41 at SAC 11/8/23	45 at POR 12/14/21

2023-24: Recorded his 20th game this season with at least 20 points and 10 rebounds vs. Golden State on April 11, marking the most such games he has had in a season ... Logged at least 20 points in six consecutive games from March 9-18, marking the longest streak of his career ... Finished with 31 points (12-21 FG, 1-1 3-PT, 6-6 FT) and 14 rebounds on March 14 vs. New York in his seventh-straight double-double, tying the longest streak of his career ... His 31 points on March 14 marked his 12th career game with at least 30 points and his third game out of his last four with 30-plus points ... Posted a season-high 33 points (15-20 FG, 3-4 FT) to go along with 19 rebounds, one assist, one steal and one block in his sixth-straight double-double vs. Atlanta on March 13, marking his third consecutive game with 20-plus points and 15-plus rebounds, which tied the longest streak in the NBA this season (Jokic, Sabonis) and the second-longest streak in Trail Blazers history (Walton, Wicks) ... Totaled 85 points and 53 rebounds over three games from March 9-13, joining Bill Walton as the only Trail Blazers with 80-plus points and 50-plus rebounds over a three-game stretch in team history ... Tallied 22 points and 15 rebounds vs. Boston on March 11 in his fifth-straight double-double, tying the second-longest streak of his career and marking the fourth time in his last five games that he has posted at least 20 points and 10 rebounds ... Recorded a season-high 30 points (14-25 FG, 0-1 3-PT, 2-2 FT) to go along with 19 rebounds, one assist, two steals and one block in 40 minutes vs. Toronto on March 9 in his fourth-straight double-double, marking his first career game with at least 30 points and 19 rebounds and becoming just the third player this season to reach those numbers in a game (LeBron James, Nikola Jokic) ... Logged back-to-back games with at least 20 points and 10 rebounds vs. Charlotte on Feb. 25 (26 points, 19 rebounds) and vs. Denver on Feb. 23 (22 points, 10 rebounds) for the second time this season (Jan. 28, Jan. 26) ... Posted two consecutive games with 15-plus points and 15-plus rebounds vs. Minnesota on Feb. 13 (22 points, 16 rebounds) and vs. New Orleans on Feb. 10 (18 points, 17 rebounds) ... Tallied a season-high 27 points (13-19 FG, 1-1 FT) at Denver on Feb. 4 to go along with nine rebounds, four assists, two blocks and one steal, marking his sixth game in his last seven with 18-plus points ... Recorded 22 points and 12 rebounds vs. Chicago on Jan. 28, marking his third consecutive double-double with 18-plus points and 12-plus rebounds and his first time tallying back-to-back games with at least 20 points as a Trail Blazer ... Logged 18 points (8-13 FG, 2-2 FT), 17 rebounds, three assists, one steal and two blocks at Houston on Jan. 24, marking his third time recording 15-plus points and 15plus assists as a Trail Blazer ... Posted 23 points and 16 rebounds vs. Washington on Dec. 21, marking his second consecutive double-double with 15plus points and 15-plus rebounds, his highest-scoring game as a Trail Blazer and his 12th double-double of the season ... Tallied 16 points, 15 rebounds and three assists vs. Phoenix on Dec. 19, marking his first game this season with 15-plus points and 15-plus rebounds ... Recorded seven double-doubles in his first 12 games to begin the regular season ... Logged his eighth consecutive double-double (18 points, 10 rebounds) in games against the Kings at Sacramento on Nov. 8, dating back to Dec. 27, 2020 ... Posted a career-high 23 rebounds at Toronto on Oct. 30, which was the most rebounds recorded by any player in the league this season and his fifth career game with 20-plus rebounds ... Is one of just six players to average a double-double in each of the last five seasons (Joel Embiid, Giannis Antetokounmpo, Rudy Gobert, Nikola Vucevic, Clint Capela).

PERSONAL: Born in Nassau, Bahamas ... Mother is Andrea Ayton and stepfather is Alvin Ayton ... Has two older brothers, Edward Jr. and Andrew, and younger sisters, Tiann and Serenity, and a younger brother, Horace ... Has a pet dog, a husky named Rocky ... Began seriously pursuing basketball at age 12 after taking \$100 he earned working with his stepfather as a plumber to attend the Jeff Rodgers Basketball Camp, the Bahamas' premier summer basketball program ... Made it to the finals of the first-ever NBA 2K Players Tournament in April 2020, losing in the finals to then teammate Devin Booker.





#41 Ibou Badji

Center • 7-0 • 237lbs • 10/13/02 • Forca Lleida CE/Senegal

TATERS N																							
	GP	GS	PPG	RPG	APG	SPG	BPG	MPG	FG%	3FG	% FT%		2023-24 HIGHS	CAREER HIGHS									
2023-24	21	1	1.5	2.4	0.6	0.10	0.95	10.3	.650	.000	0.500	PTS	7 vs. SAS 12/28/23	7 vs. SAS 12/28/23									
Career	21	1	1.5	2.4	0.6	0.10	0.95	10.3	.650	.000) .500	FGM	3 vs. SAS 12/28/23	3 vs. SAS 12/28/23									
	POI	NTS			REB	AST	BLK	STL				FGA	5 at NYK 1/9/24	5 at NYK 1/9/24									
	-	+	20+	30+	10+	10+	3+	3+	DBL-I	IRI	TPL-DBL	3FGM											
2023-24	_						2					3FGA											
Career	_	-					2					FTM	2 vs. SAS 12/29/23	2 vs. SAS 12/29/23									
							L					FTA	2 6 times (@ MIA, 3/29/24)	2 6 times (@ MIA, 3/29/24)									
RECENT GAME	S											OREB	5 vs. SAS 12/28/23	5 vs. SAS 12/28/23									
OPPONENT	W/L	MIN	FG-A	3P-A	FT-A	OR	DR TR	A S	PF ST	TO	BS PTS	DREB	5 at PHX 1/1/24	5 at PHX 1/1/24									
4/12 vs. HOU	L											TREB	9 vs. SAS 12/28/23	9 vs. SAS 12/28/23									
4/11 vs. GSW	L											ASTS	3 at NYK 1/9/24	3 at NYK 1/9/24									
4/9 vs. NOP	L											STLS	2 at NYK 1/9/24	2 at NYK 1/9/24									
4/7 at BOS	L											BLKS	3 2 times (@ OKC, 1/11/24)	3 2 times (@ OKC, 1/11/24)									
4/5 at WAS	W					Inact	ive - Inji	urv				MINS	27 at NYK 1/9/24	27 at NYK 1/9/24									

2023-24: Has appeared in three regular season game (all starts) with the Rip City Remix, averaging 6.0 points, 3.3 rebounds and 3.0 blocks in 20.3 minutes per game ... Made his first NBA start at Dallas on Jan. 3 ... Scored his first NBA points vs. San Antonio on Dec. 28 ... Made his NBA debut vs. Sacramento on Dec. 26 ... Appeared in nine games (seven starts) with the Rip City Remix during the Showcase Cup, recording 5.0 points, 3.6 rebounds and 2.7 blocks in 20.8 minutes per game ... Averaged 3.5 points, 2.7 rebounds and 2.3 blocks in 15.3 minutes per game in six games with the Wisconsin Herd before re-signing with Portland.

PERSONAL: First player from NBA Academy Africa to play in the NBA ... Represented Senegal at the 2019 FIBA Under-19 Basketball World Cup in Heraklion, Greece ... Born in Dakar, Senegal.





3rd Year Pro

#5 Dalano Banton

uard • 6-9 • 204lbs • 11/7/99 • Nebraska/Canada

	GP	GS	PPG	RPG	APG	SPG	BPO		MPG	FG	%	3F(3%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	53	8	10.2	3.3	2.3	0.57	0.38	3 []	19.0	.4	14	.32	21	.781	PTS	31 at ATL 3/27/24	31 at ATL 3/27/24
Career	148	11	6.0	2.3	1.7	0.48	0.29	9 [13.4	.4	14	.30)4	.725	FGM	13 at ATL 3/27/24	13 at ATL 3/27/24
	POI	ITS		•	REB	AST	BL	K	STL						FGA	27 vs. HOU 3/8/24	27 vs. HOU 3/8/24
	10		20+	30+	10+	10+	3+		3+	DB	L-DI	RI	TPI	-DBL	3FGM	5 2 times (@ ATL, 3/27/24)	5 2 times (@ ATL, 3/27/24)
2023-24	26		9	2	2				3		2			-	3FGA	11 at ATL 3/27/24	11 at ATL 3/27/24
Career	37		10	2	2		1		4		2				FTM	8 vs. HOU 4/12/24	8 vs. HOU 4/12/24
	_		10	L	2		1		-		2				FTA	10 vs. MIN 2/13/24	10 vs. MIN 2/13/24
RECENT GAME	S														OREB	4 vs. CHA 2/25/24	4 vs. CHA 2/25/24
OPPONENT	W/L	MIN				A OR	DR	TR	A	PF	ST	TO	BS	PTS	DREB	10 2 times (vs. HOU, 4/12/24)	10 2 times (vs. HOU, 4/12/24)
4/12 vs. HOU	L	38:2	4 9-2	6 2-1	.0 8-9) 0	10	10	3	1	1	1	2	28	TREB	11 at HOU 3/25/24	11 at HOU 3/25/24
4/11 vs. GSW	L					Inact	ive - I	njury	/						ASTS	9 2 times (@ BOS, 4/7/24)	9 2 times (@ BOS, 4/7/24)
4/9 vs. NOP	L	31:1	8 4-1	1 2-	8 2-2	2 0	3	3	3	1	0	4	1	12	STLS	4 vs. NYK 3/14/24	4 vs. NYK 3/14/24
4/7 at BOS	L	36:3	6 11-2	3 3-	9 3-3	3 1	2	3	9	0	1	4	0	28	BLKS	2 6 times (vs. HOU, 4/12/24)	3 vs. CHA 1/25/22
4/5 at WAS	W	33:34	4 8-2	0 2-	6 3-5	5 2	6	8	8	3	0	1	0	21	MINS	42 vs. TOR 3/9/24	42 vs. TOR 3/9/24

2023-24: Posted a career-high 31 points and a career-high nine assists at Atlanta on March 27 to go along with five rebounds and two steals in 37 minutes in his ninth consecutive game scoring in double figures, marking the longest streak of his career ... Tallied 28 points, a career-high 11 rebounds, five assists, two blocks and one steal at Houston on March 25 in his first career double-double, marking his fifth career game with at least 20 points and his fourth with the Trail Blazers ... Scored in double figures in seven consecutive games from March 13-23, marking the longest streak of his career ... Recorded 20 points in the first half at New Orleans on March 16, marking his career high for a half ... Logged a career-high 30 points and a career-high eight rebounds to go along with five assists, one block and one steal vs. Houston on March 8, marking his second career game with 20-plus points ... Made his Trail Blazers debut on Feb. 10, recording 12 points (5-14 FG, 1-5 3-PT, 1-1 FT), three rebounds and three assists in 25 minutes ... Started his first game of the season and made his fourth career start against Atlanta on Nov. 26, when he finished with eight points (3-5 FG, 2-2 FT), five rebounds and one assist in a season-high 19 minutes of action ... Appeared in two G League games (two starts) with the Maine Celtics during the regular season, posting 29.5 points (43.5% FG, 33.3% 3-PT, 64.3% FT), 5.5 rebounds, 4.0 assists, 2.0 steals and 2.0 blocks in 34.8 minutes per game.

PERSONAL: Born in Toronto, Ontario ... Son of Damian Banton and Suzanne English.





8th Year Pro

#11 Malcolm Brogdon

Guard • 6-5 • 228lbs • 12/11/92 • Virginia/USA

RI A7FRS														
	GP	GS	PPG	RPG	APG	SPG	BPG	MPG	FG%	3FG%	6 FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	39	25	15.7	3.8	5.5	0.69	0.21	28.7	.440	.412	.819	PTS	30 vs. IND 1/19/24	36 vs. TOR 1/25/21
Career	439	283	15.4	4.2	4.7	0.81	0.23	29.4	.464	.391	.873	FGM	10 2 times (vs. PHI, 1/29/24)	13 vs. HOU 1/6/21
	POIN	TS			REB	AST	BLK	STL				FGA	23 at MIL 11/26/23	25 2 times (vs. CHI, 2/15/21)
	10.		20+	30+	10+	10+	3+	3+	DBL-D	BL T	PL-DBL	3FGM	6 vs. SAS 12/28/23	7 2 times (@ MIA, 3/19/21)
2023-24	29		11	1		4		2	4			3FGA	9 3 times (vs. PHX, 12/19/23)	11 at MIA 3/21/21
Career	35		119	11	8	24		28	28		2	FTM	10 2 times (vs. IND, 1/19/24)	15 vs. BOS 12/11/19
		•	110		•	21		20	20		L	FTA	12 vs. MEM 11/3/23	15 2 times (@ ORL, 3/2/22)
RECENT GAME	S											OREB	3 2 times (@ DEN, 2/2/24)	7 at HOU 4/14/21
OPPONENT	W/L	MIN	FG-A	3P-A	FT-A	OR L	DR TR	A	PF ST	TO I	BS PTS	DREB	7 vs. MEM 11/3/23	13 vs. OKC 4/21/21
4/12 vs. HOU	L					Inactiv	ve - Inju	ıry				TREB	8 2 times (@ DEN, 2/2/24)	15 2 times (vs. OKC, 4/21/21)
4/11 vs. GSW	L					Inactiv	ve - Inju	ıry				ASTS	12 2 times (@ GSW, 12/23/23)	13 3 times (vs. MIL, 2/12/20)
4/9 vs. NOP	L					Inactiv		STLS	3 2 times (@ GSW, 12/23/23)	5 vs. DAL 1/21/19				
4/7 at BOS	L					Inactiv	ve - Inju	ıry				BLKS	1 8 times (vs. PHI, 1/29/24)	2 11 times (@ DET, 2/6/23)
4/5 at WAS	W					Inactiv	ve - Inju	ıry				MINS	44 vs. MEM 11/3/23	46 vs. LAL 11/24/21

2023-24: Was re-evaluated on Feb. 26 for his elbow tendonitis and will continue to ramp up with an anticipated return to action ... Tallied a seasonhigh 30 points (9-18 FG, 2-4 3-PT, 10-10 FT) to go along with seven rebounds, six assists, one block and one steal vs. Indiana on Jan. 19, marking his 11th career game with 30-plus points ... Surpassed 2,000 career assists vs. Brooklyn on Jan. 17 ... Recorded 29 points (10-19 FG, 6-8 3-PT, 3-5 FT), six rebounds, six assists and one steal vs. San Antonio on Dec. 28, marking his sixth career game with at least six 3PM and his first game with six or more threes since March 26, 2021 ... Surpassed 700 career three-pointers vs. San Antonio on Dec. 28, ending the night at 705 total career 3PM ... Logged back-to-back double-doubles vs. Memphis on Nov. 3 and Nov. 5, marking only the second time in his career that he has notched consecutive double-doubles ... Became one of only three players to post 90-plus points, 20-plus rebounds and 20-plus assists off the bench in their team's first five games (Manu Ginobili, 2007; Tyler Herro, 2021).

PERSONAL: Son of Jann Adams and Mitchell G. Brogdon ... Has two older brothers, Gino and John ... Has a Master's degree from Virginia in public policy and an undergraduate degree in history ... Member of the National Society of High School Scholars ... Was awarded the 2016 Ernest H. Ern Distinguished Student Award by the Virginia Alumni Association, given annually to a UVA student who has won recognition in the University community for demonstrating outstanding academic and leadership performance and for preserving the tradition of the University.





5th Year Pro

#10 Moses Brown

nter • '	7-2.	2501	he • 1	n/12	/aa .		/110
11161 •	(~ `	CJOI	N2 . T	U/ 19	/33 '	ULLA	/03

RI A7FRS																
	GP	GS	PPG	RPG	APG	SPG	BPG	MP	G	FG%	3F(3%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	21	4	3.1	3.8	0.3	0.14	0.33	8.8		.500	.0	00	.276	PTS	9 vs. LAC 3/22/24	24 vs. LAC 5/16/21
Career	149	43	5.2	5.0	0.2	0.31	0.57	11.9	9	.563	.0	00	.537	FGM	3 5 times (vs. HOU, 4/12/24)	12 vs. LAC 5/16/21
	POIN	TS			REB	AST	BLK	STL	Ì			·		FGA	7 at LAC 12/11/23	19 vs. LAC 5/16/21
	10.		20+	30+	10+	10+	3+	3+		DBL-D	BL	TPL	-DBL	3FGM		
2023-24					2									3FGA		
Career	29)	4		28		5			18		-		FTM	3 vs. LAC 3/22/24	8 2 times (vs. IND, 11/27/22)
			•		20		Ū			10				FTA	8 vs. LAC 3/22/24	12 vs. IND 11/27/22
RECENT GAME	S													OREB	5 3 times (vs. HOU, 4/12/24)	10 at MIN 1/6/23
OPPONENT	W/L	MIN		A 3P-/			DR	TR A	P	F ST	TO	BS	PTS	DREB	8 at LAC 12/11/23	17 vs. BOS 3/27/21
4/12 vs. HOU	L	14:4	7 3-5	0-0	2-4	5	4	9 0		2 0	1	0	8	TREB	12 at LAC 12/11/23	23 vs. BOS 3/27/21
4/11 vs. GSW	L													ASTS	2 2 times (vs. LAC, 3/22/24)	3 vs. LAC 5/16/21
4/9 vs. NOP	L													STLS	1 3 times (@ ATL, 3/27/24)	2 9 times (vs. PHI, 3/16/22)
4/7 at BOS	L													BLKS	2 vs. DEN 3/23/24	7 vs. LAC 5/16/21
4/5 at WAS	W				DI	NP - Coa	aches I	Decisio	n					MINS	16 at LAC 12/11/23	38 vs. LAC 5/16/21

2023-24: Has played in one regular season game (one start) with the Rip City Remix, posting 10 points, six rebounds and one assist in 22.4 minutes ... Returned to action at Memphis on March 1 after being out since January after undergoing successful surgery on his left wrist ... Played in four games (all starts) with the Rip City Remix during the Showcase Cup, averaging 19.3 points, 12.8 rebounds, 1.0 steals and 2.8 blocks in 26.6 minutes per game.

PERSONAL: Born in New York, N.Y. ... Son of Malcolm Brown and Wanda Williams ... Full name is Moses Shirier-Lamar Brown.





Rookie

#33 Toumani Camara

Forward • 6-8 • 226lbs • 5/8/00 • Dayton/Belgium

BLA7ERS															
	GP	GS	PPG	RPG	APG	SPG	BPG	MPG	FG%	3FG ^o	% FT%	Ś		2023-24 HIGHS	CAREER HIGHS
2023-24	70	49	7.5	4.9	1.2	0.94	0.47	24.8	.450	.33	7 .758	3 PTS		18 vs. UTA 12/14/23	18 vs. UTA 12/14/23
Career	70	49	7.5	4.9	1.2	0.94	0.47	24.8	.450	.33	7 .758	3 FGN	1	7 2 times (@ ATL, 3/27/24)	7 2 times (@ ATL, 3/27/24)
	POI	NTS			REB	AST	BLK	STL				FGA		20 vs. DAL 12/8/23	20 vs. DAL 12/8/23
	10		20+	30+	10+	10+	3+	3+	DBL-D)BI	TPL-DB	3FG	iM	3 4 times (@ ATL, 3/27/24)	3 4 times (@ ATL, 3/27/24)
2023-24	2				4			5	2			3FG	iA	10 vs. DAL 12/8/23	10 vs. DAL 12/8/23
Career	2				4			5	2			FTN	1	4 3 times (vs. HOU, 3/8/24)	4 3 times (vs. HOU, 3/8/24)
		•							L			FTA		5 vs. LAL 11/17/23	5 vs. LAL 11/17/23
RECENT GAME	S											ORE	B	6 2 times (vs. MIA, 2/27/24)	6 2 times (vs. MIA, 2/27/24)
OPPONENT	W/L	MIN	FG-A	3P-A	FT-A	OR	DR TF	A A	PF ST	TO	BS PT	S DRE	B	8 at GSW 12/6/23	8 at GSW 12/6/23
4/12 vs. HOU	L					Inact	ive - Inj	ury				TRE	B	13 at GSW 12/6/23	13 at GSW 12/6/23
4/11 vs. GSW	L					Inact	ive - Inj	ury				AST	S	6 vs. DEN 3/23/24	6 vs. DEN 3/23/24
4/9 vs. NOP	L					Inact	ive - Inj	ury				STL	S	4 at UTA 12/2/23	4 at UTA 12/2/23
4/7 at BOS	L					Inact	ive - Inj	ury				BLK	s	2 7 times (@ HOU, 3/25/24)	2 7 times (@ HOU, 3/25/24)
4/5 at WAS	W					Inact	ive - Inj	ury				MIN	IS	39 vs. DEN 3/23/24	39 vs. DEN 3/23/24

2023-24: Suffered a fractured left rib and a small laceration in the kidney at Atlanta on March 27 and will miss the rest of the 2023-24 season ... Among NBA rookies, ranks sixth in steals per game (0.9) and 11th in rebounds per game (4.9) ... Among NBA rookies drafted in the second round of the 2023 NBA Draft, ranks first in steals per game (0.9), first in total rebounds (343), first in total assists (87), first in total steals (66), second in total points (527), second in total blocks (33), second in total 3PM (58), second in rebounds per game (4.9), third in assists per game (1.2), third in points (527), second in total blocks (33), second in total 3PM (58), second in rebounds per game (4.9), third in assists per game (1.2), third in points per game (7.5) and fourth in blocks per game (0.5) ... Is one of only two rookies this season who have recorded at least 350 points, 340 rebounds, 65 steals and 35 three-pointers made (V. Wembanyama) ... Posted 12 points in the first quarter at Atlanta on March 27, marking his career high for a quarter and the first time he has scored in double figures in a quarter ... Logged his first career double-double with 13 points, 11 rebounds, three assists and two steals vs. San Antonio on Dec. 29 ... Recorded a career-high 18 points vs. Utah on Dec. 14 ... Made his first NBA start at Utah on Nov. 14 ... Made his NBA debut at the Clippers on Oct. 25, recording seven points, two rebounds, one assist and one block in 16 minutes.

PERSONAL: Native of Brussels, Belgium ... Is just the fourth Belgian-born player in NBA history, joining Tony Parker, Xavier Henry and Frank Ntilikina, though those three were all raised in different countries ... Son of Anne Le Docte ... Has one brother, Tidiane.





10th Year Pro

#9 Jerami Grant

orward • 6-8 • 213lbs • 3/12/94 • Syracuse/USA

RI A7FRS															
	GP	GS	PPG	RPG	APG	SPG	BPG	MPG	FG%	3FG	% FT%	, 5		2023-24 HIGHS	CAREER HIGHS
2023-24	54	54	21.0	3.5	2.8	0.83	0.63	33.9	.451	.40	2 .81	7 PTS	S	49 vs. DET 2/8/24	49 vs. DET 2/8/24
Career	672	387	13.0	4.0	1.6	0.66	1.04	27.6	.455	.36	4 .746	5 FGI	M	14 3 times (vs. DET, 2/8/24)	15 at CHI 2/17/21
	POIN	ST			REB	AST	BLK	STL				FG/	A	29 vs. DET 2/8/24	29 vs. DET 2/8/24
	10		20+	30+	10+	10+	3+	3+	DBL-D	BI	TPL-DB	3F0	GM	5 3 times (vs. UTA, 11/22/23)	7 at CLE 3/19/22
2023-24	50		31	7	1		2	4	1			3F0	GA	13 vs. MEM 11/5/23	13 vs. MEM 11/5/23
Career	39		149	28	18		65	23	16			FTN	N	18 vs. DET 2/8/24	21 at NYK 11/25/22
		•	110	20	10		00	20	10			FTA	A	20 vs. DET 2/8/24	28 at NYK 11/25/22
RECENT GAME	S											OR	EB	4 vs. BKN 1/17/24	6 2 times (@ NOP, 1/24/20)
OPPONENT	W/L	MIN	FG-A	3P-A	FT-A	OR I	DR TR	A	PF ST	TO	BS PT	DR	EB	8 at SAC 11/8/23	9 6 times (@ LAC, 11/26/21)
4/12 vs. HOU	L					Inacti	ve - Injı	ıry				TRE	EB	10 vs. SAS 12/28/23	14 vs. TOR 3/20/19
4/11 vs. GSW	L					Inacti	ve - Injı	ıry				AST	rs	9 at HOU 1/24/24	9 at HOU 1/24/24
4/9 vs. NOP	L					Inacti	ve - Injı	ıry				STL	S	4 at MIL 11/26/23	4 5 times (@ MIL, 11/26/23)
4/7 at BOS	L					Inacti	ve - Injı	ıry				BLI	ƙS	3 2 times (@ IND, 11/27/23)	8 vs. NYK 1/21/15
4/5 at WAS	W					Inacti	ve - Injı	ıry				MIN	VS	46 at SAC 11/8/23	48 at LAL 2/6/21

2023-24: Logged a career-high 49 points (14-29 FG, 3-6 3-PT, 18-20 FT) to go along with eight rebounds and six assists vs. Detroit on Feb. 8, becoming just the second player in Trail Blazers history to record at least 49-8-6 in a game (Lillard – Jan. 20, 2020) ... Posted 37 points, four rebounds, three assists, two blocks and one steal vs. Indiana on Jan. 19, marking the first time he has recorded back-to-back games with 30-plus points as a Trail Blazer and the third time he has done so in his career ... Recorded 29 points and a season-high 10 rebounds to go along with five assists vs. San Antonio on Dec. 28, marking his first double-double of the season ... Tallied 34 points (12-18 FG, 3-3 3-PT, 7-7 FT) at Indiana on Nov. 27, surpassing 8,000 career points and marking his third game with 30-plus points this season ... His 17 points in the fourth quarter on Nov. 27 tied the third highest scoring quarter of his career ... Logged a game-high 30 points (10-13 FG, 5-6 3-PT, 5-6 FT) vs. Utah on Nov. 22, becoming the first Blazer with 30-plus points on 13 field goal attempts or fewer since CJ McCollum on March 25, 2017 ... Extended his streak of 20-plus point games to seven with 26 points at Utah on Nov. 14, tying his second longest streak of 20-plus point games in his career ... Recorded a season-high 38 points at Sacramento on Nov. 8, marking his fourth highest scoring game of his career and his fifth consecutive game with 20-plus points, while also tying his third longest streak of 20-plus point games in his career.

PERSONAL: Full name is Houston Jerami Grant ... Son of Harvey and Beverly Grant ... Father played 11 seasons in the NBA, including three with Portland from 1993-96 ... Uncle, Horace Grant, played 17 NBA seasons and won three championships with the Chicago Bulls and one with the Los Angeles Lakers ... Has three brothers: Harvey Jeraj, Holdyn Jerian and Harrison Jaelin ... Born in Portland, Ore. ... Enjoys playing golf ... His charity, Hour Generation Foundation, aims to assist inner city kids and single parents.





2nd Year Pro

#19 Ashton Hagans

Juard • 6-3 • 190lbs • 7/8/99 • Kentucky/USA

	GP	GS	PPG	RPG	APG	SPG	BPG	MPG	FG%	3FG	%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	19	1	4.2	2.4	2.8	0.58	0.47	16.6	.408	.32	0	.824	PTS	13 at MEM 3/2/24	13 at MEM 3/2/24
Career	21	1	3.8	2.1	2.6	0.52	0.43	15.2	.408	.32	0	.824	FGM	4 2 times (@ HOU, 3/25/24)	4 2 times (@ HOU, 3/25/24)
	POI	NTS			REB	AST	BLK	STL					FGA	9 at MEM 3/2/24	9 at MEM 3/2/24
	10		20+	30+	10+	10+	3+	3+	DBL-	NRI	TPI	-DBL	3FGM	2 3 times (@ ATL, 3/27/24)	2 3 times (@ ATL, 3/27/24)
2023-24	2						1	1					3FGA	4 at MEM 3/2/24	4 at MEM 3/2/24
Career	2	·					1	1					FTM	3 at MEM 3/2/24	3 at MEM 3/2/24
		•					1	1					FTA	3 at MEM 3/2/24	3 at MEM 3/2/24
RECENT GAME	S												OREB	3 vs. CHA 2/25/24	3 vs. CHA 2/25/24
OPPONENT	W/L	MIN	I FG-	A 3P-	A FT- <i>I</i>	A OR	DR 1	IR A	PF S1	TO TO	BS	PTS	DREB	5 at MEM 3/2/24	5 at MEM 3/2/24
4/12 vs. HOU	L												TREB	5 2 times (vs. NYK, 3/14/24)	5 2 times (vs. NYK, 3/14/24)
4/11 vs. GSW	L	13:3	3 2-4	1-3	8 0-0) 1	1	2 4	1 1	1	0	5	ASTS	8 at MEM 3/2/24	8 at MEM 3/2/24
4/9 vs. NOP	L												STLS	3 at MIN 3/4/24	3 at MIN 3/4/24
4/7 at BOS	L				Inac	ctive - G	League	e Two-W	'ay				BLKS	3 at MEM 3/1/24	3 at MEM 3/1/24
4/5 at WAS	W				Inac	ctive - G	League	e Two-W	ay				MINS	33 at MEM 3/2/24	33 at MEM 3/2/24

2023-24: Has played in 19 regular season games (all starts) with the Rip City Remix, averaging 16.2 points, 4.8 rebounds, 9.8 assists and 1.7 steals in 32.0 minutes per game ... Finished with a career-high 13 points (4-9 FG, 2-4 3-PT, 3-3 FT), five rebounds, eight assists and two steals at Memphis on March 2 ... Signed to a two-way contract on Feb. 23, after previously signing a 10-day contract on Feb. 8 ... Made his first NBA start vs. New Orleans on Feb. 10 ... Scored his first NBA points vs. Detroit on Feb. 8 ... Appeared in 14 games (10 starts) with the Rip City Remix during the Showcase Cup, averaging 11.2 points, 3.4 rebounds, 5.8 assists and 2.1 steals in 26.0 minutes per game ... Ranked second in the G League in total assists (144), second in assists per game (9.6) and tied for 11th in total steals (27) for the regular season before signing with Portland ... Was selected to compete in this year's NBA G League Up Next Game at All-Star Weekend in Indianapolis after receiving the most fan votes.

PERSONAL: Born in Cartersville, Ga. ... Majored in community and leadership development at Kentucky ... Parents are Monica Wheeler and Marvin Hagans ... Has four siblings: India, Byron, Amoir and Imani ... Is the cousin of former NFL and Auburn running back Ronnie Brown and former NBA player and All-SEC First Team selection at Georgia Trey Thompkins.





Rookie

#00 Scoot Henderson

Guard • 6-3 • 202lbs • 2/3/04 • NBA G League Ignite/USA

DI A7FDO																	
	GP	GS	PPG	RPG	APG	SPG	BPO		MPG	FG	%	3FG	%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	62	32	14.0	3.1	5.4	0.77	0.2	1	28.5	.38	35	.32	5	.819	PTS	33 vs. PHX 1/14/24	33 vs. PHX 1/14/24
Career	62	32	14.0	3.1	5.4	0.77	0.2	L :	28.5	.38	35	.32	5	.819	FGM	11 vs. PHX 1/14/24	11 vs. PHX 1/14/24
	POI	NTS			REB	AST	BL	K	STL						FGA	31 vs. PHX 1/14/24	31 vs. PHX 1/14/24
	10		20+	30+	10+	10+	_		3+	DB	L-DI	RI	TPL-	-DRI	3FGM	6 vs. HOU 4/12/24	6 vs. HOU 4/12/24
2023-24	4		11	3		8			2		8			-	3FGA	10 vs. NOP 4/9/24	10 vs. NOP 4/9/24
Career	4		11	3		8			2		8		_	_	FTM	11 at DEN 2/2/24	11 at DEN 2/2/24
		,		0		Ū			L		0				FTA	12 at DEN 2/2/24	12 at DEN 2/2/24
RECENT GAME	S														OREB	4 3 times (@ DEN, 2/4/24)	4 3 times (@ DEN, 2/4/24)
OPPONENT	W/L	MIN	FG-	A 3P	-A FT-	A OR	DR	TR	A	PF	ST	TO	BS	PTS	DREB	7 vs. NYK 3/14/24	7 vs. NYK 3/14/24
4/12 vs. HOU	L	33:3	6 10-2	23 6-	7 4-	5 2	3	5	7	3	1	1	1	30	TREB	8 2 times (@ ORL, 4/1/24)	8 2 times (@ ORL, 4/1/24)
4/11 vs. GSW	L	39:4	2 7-2	2-	8 2-	3 1	2	3	12	2	2	9	0	18	ASTS	15 vs. NOP 4/9/24	15 vs. NOP 4/9/24
4/9 vs. NOP	L	40:3	2 7-1	8 2-1	LO 3-	3 2	1	3	15	4	1	8	0	19	STLS	3 2 times (vs. PHX, 1/14/24)	3 2 times (vs. PHX, 1/14/24)
4/7 at BOS	L	36:2	6 3-1	3 3-	7 6-	6 0	1	1	8	2	2	5	0	15	BLKS	2 2 times (@ PHX, 1/1/24)	2 2 times (@ PHX, 1/1/24)
4/5 at WAS	W	30:2	7 8-1	4 2-	4 1-	1 0	3	3	7	5	1	3	0	19	MINS	41 at MIA 3/29/24	41 at MIA 3/29/24

2023-24: Among NBA rookies, ranks first in assists per game (5.4) and fourth in points per game (14.0) ... Leads all rookies this season for the most games with double-digit assists (8) ... Ranks second among rookies this season for the most games with 15-plus points and five-plus assists (19) ... Became the first rookie in the NBA this season to record 10-plus assists in consecutive games (April 11, April 9) ... His career-high 15 assists vs. New Orleans on April 9 marked the most assists recorded by a rookie in a game this season and the most assists logged in a game by a rookie in Trail Blazers history ... Became the youngest player (20 years, 66 days) with at least 15 assists in a game since Trae Young (20 years, 61 days) had 17 on Nov. 19, 2018 ... Had 10 assists in the first half vs. New Orleans on April 9, marking his career high for a half and becoming the first Trail Blazers player with 10 assists in a half since Damian Lillard (3/28/21) ... His first half vs. New Orleans on April 9 marked his first time recording a double-double in a half (12 points) ... Tallied 22 points and 10 assists at Charlotte on April 3, remaining the only rookie to record 20-plus points and 10-plus assists in a game this season after doing so a fourth time, while also tying Damian Lillard for the second-most games with at least 20 points and 10 assists by a rookie in Trail Blazers history ... Posted 24 points (8-18 FG, 3-6 3-PT, 5-5 FT), 10 assists, five rebounds and two steals vs. the Clippers on March 22 in his fifth double-double, remaining the only rookie in the NBA this season to record 20-plus points and 10-plus assists in a game after doing it a third time ... Became the first Trail Blazers rookie since Damian Lillard to log 30-plus points in multiple games (Feb. 2, Jan. 14) ... His game-high 30 points (8-15 FG, 3-7 3-PT, 11-12 FT) at Denver on Feb. 2 marked the most points scored by a rookie off the bench this season ... Earned his third Rising Stars selection on Jan. 30 ... Became the sixth rookie in NBA history to record at least 33 points, seven rebounds, nine assists and three steals in a game vs. Phoenix on Jan. 14 and became the first rookie to do so since Stephen Curry in 2010 ... Tallied 22 points, a career-high (tie) 11 assists, a career-high seven rebounds, one steal and one block vs. San Antonio on Dec. 29, remaining the only rookie in the NBA this season to record 20-plus points and 10-plus assists in a game after doing it a second time ... Logged a career-high 25 points vs. San Antonio on Dec. 28 ... Tallied 17 points and a career-high (tie) 11 assists in 28 minutes vs. Sacramento on Dec. 26, marking his second career double-double ... Posted his fifth consecutive game scoring in double figures vs. Golden State on Dec. 17 ... Recorded his first career double-double vs. Utah on Dec. 14 with 23 points and 10 assists, becoming the first rookie in the NBA this season to record 20-plus points and 10-plus assists in a game ... Had his first game with multiple three pointers made at Milwaukee on Nov. 26, shooting 3-of-4 from three-point range ... Suffered a right ankle sprain and bone bruising at Detroit on Nov. 1, causing him to miss nine games before returning to action vs. Utah on Nov. 22 ... Made his NBA debut at the Clippers on Oct. 25. posting 11 points, three rebounds and four assists in 36 minutes.

PERSONAL: Given name is Sterling ... One of seven children – nicknamed the "Henderson Seven" ... Siblings are Diamond, Jade, China, Chris Jr., Crystal and Onyx ... Parents, Chris and Crystal, own a gym called NextPlay360, focused on next-level basketball development using sports to advance STEM disciplines for underrepresented K-12 students in Cobb County, Ga. ... Born in Marietta, Ga. ... Lives by the motto O.D.D. (Overly Determined to Dominate) ... Also played football through ninth grade ... His dream colleges for football were Oregon and Texas ... Learned he enjoys reading after receiving The Four Agreements as a gift, which he says "inspires how I see life and how I treat people."





2nd Year Pro

#24 Justin Minaya

orward • 6-6 • 205lbs • 3/26/99 • Providence/USA

RI A7FRS																	
	GP	GS	PPG	RPG	APG	SPG	BPG	ì	MPG	FG	1%	3F(%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	33	0	1.6	1.5	0.6	0.27	0.30) [10.4	.2	97	.25	56	.500	PTS	9 at BOS 4/7/24	9 at BOS 4/7/24
Career	37	0	1.9	1.8	0.6	0.30	0.41	1	11.7	.2	99	.25	55	.444	FGM	3 at BOS 4/7/24	3 3 times (@ BOS, 4/7/24)
	POI	NTS			REB	AST	BL	K	STL						FGA	7 vs. GSW 4/11/24	8 2 times (vs. GSW, 4/9/23)
	10	-	20+	30+	10+	10+	3-		3+	DF	BL-D	BI	TPL-	-DRI	3FGM	3 at BOS 4/7/24	3 at BOS 4/7/24
2023-24														_	3FGA	5 2 times (vs. GSW, 4/11/24)	5 3 times (vs. GSW, 4/11/24)
Career		_					1						_	-	FTM	1 4 times (vs. NYK, 3/14/24)	1 4 times (vs. NYK, 3/14/24)
															FTA	2 4 times (vs. NYK, 3/14/24)	2 4 times (vs. NYK, 3/14/24)
RECENT GAME	S														OREB	4 vs. GSW 4/11/24	4 vs. GSW 4/11/24
OPPONENT	W/L	MIN	FG-	A 3P-	A FT-	A OR	DR	TR	A	PF	ST	TO	BS	PTS	DREB	3 2 times (vs. NOP, 4/9/24)	4 2 times (vs. GSW, 4/9/23)
4/12 vs. HOU	L	28:1		3 0-2	2 0-0) 2	2	4	2	4	0	0	0	2	TREB	5 vs. NYK 3/14/24	5 vs. NYK 3/14/24
4/11 vs. GSW	L	29:2	0 1-7	7 1-5	5 0-0) 4	0	4	2	4	1	0	0	3	ASTS	2 6 times (vs. HOU, 4/12/24)	2 7 times (vs. HOU, 4/12/24)
4/9 vs. NOP	L	21:3	0 1-4	4 1-3	3 0-0) 1	3	4	2	2	0	0	0	3	STLS	2 2 times (@ WAS, 4/5/24)	2 2 times (@ WAS, 4/5/24)
4/7 at BOS	L	23:0	1 3-5	5 3-5	5 0-0) 1	1	2	2	2	0	0	1	9	BLKS	2 at WAS 4/5/24	3 at SAS 4/6/23
4/5 at WAS	W	25:2	9 1-4	4 0-2	2 0-0) 2	2	4	2	2	2	0	2	2	MINS	29 vs. GSW 4/11/24	29 vs. GSW 4/11/24

2023-24: Has appeared in nine regular season games (all starts) with the Rip City Remix, averaging 16.2 points, 6.4 rebounds, 3.6 assists and 1.0 steals in 32.4 minutes per game ... Played in 10 games (nine starts) with the Rip City Remix during the Showcase Cup, averaging 11.2 points, 5.2 rebounds, 3.5 assists, 1.7 steals and 1.2 blocks in 31.3 minutes per game ... Scored his first NBA points vs. Oklahoma City on Nov. 19 ... Made his NBA debut at Sacramento on Nov. 8.

PERSONAL: Son of Omar and Rachel Minaya ... His father, Omar, is a baseball executive who last served as special assistant to the general manager of the New York Mets ... Has one brother, Teddy Minaya ... Enjoys playing NBA2K and baseball ... Favorite food is pasta.





Rookie

#8 Kris Murray

Forward • 6-8 • 210lbs • 8/19/00 • Iowa/USA

RI A7FRS																		
	GP	GS	PPG	RPG	APO		SPG	BPG		APG	FG	%	3FG	%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	61	28	6.0	3.4	1.3	(0.85	0.33	2	21.4	.4	05	.27	73	.648	PTS	21 vs. LAC 3/22/24	21 vs. LAC 3/22/24
Career	61	28	6.0	3.4	1.3	(0.85	0.33	2	21.4	.4	05	.27	73	.648	FGM	8 vs. LAC 3/22/24	8 vs. LAC 3/22/24
	POI	NTS			RE	R	AST	BL		STL						FGA	15 vs. LAC 3/22/24	15 vs. LAC 3/22/24
	10		20+	30+			10+	3+		3+	nF	BL-D	RI	TPL	.NRI	3FGM	4 vs. NOP 4/9/24	4 vs. NOP 4/9/24
2023-24	1		1		1					4		1			-	3FGA	8 at MIA 3/29/24	8 at MIA 3/29/24
Career	1	-	1		1				-	4		1			_	FTM	5 vs. GSW 4/11/24	5 vs. GSW 4/11/24
		0	1		1					т		1				FTA	6 vs. GSW 4/11/24	6 vs. GSW 4/11/24
RECENT GAME	S															OREB	6 vs. CHA 2/25/24	6 vs. CHA 2/25/24
OPPONENT	W/L	MIN	l FG	-A 3P	-A F	F-A	OR	DR	TR	A	PF	ST	TO	BS	PTS	DREB	7 vs. HOU 3/8/24	7 vs. HOU 3/8/24
4/12 vs. HOU	L	42:3	4 4-2	1 1	7 1	-1	4	3	7	2	1	0	0	0	10	TREB	11 vs. HOU 3/8/24	11 vs. HOU 3/8/24
4/11 vs. GSW	L	44:3	4 4-3	12 1-	-7 5	-6	2	2	4	2	5	1	0	1	14	ASTS	7 vs. HOU 3/8/24	7 vs. HOU 3/8/24
4/9 vs. NOP	L	37:1	9 4-	8 4-	6 2	-2	3	2	5	2	5	1	4	2	14	STLS	3 4 times (@ ORL, 4/1/24)	3 4 times (@ ORL, 4/1/24)
4/7 at BOS	L	25:3	9 4-	9 2-	-4 (-0	4	3	7	2	1	1	2	0	10	BLKS	2 vs. NOP 4/9/24	2 vs. NOP 4/9/24
4/5 at WAS	W	28:0	5 6-1	13 1-	-5 (-1	5	0	5	0	2	0	2	0	13	MINS	45 vs. GSW 4/11/24	45 vs. GSW 4/11/24

2023-24: Posted a career-high 21 points (8-15 FG, 3-6 3-PT, 2-3 FT) to go along with seven rebounds, two assists, two steals and one block vs. the Clippers on March 22, marking his first career game with at least 20 points ... Tallied 11 points in the first quarter vs. the Clippers on March 20, marking his career high for a quarter and the first time he has scored in double figures in a quarter ... Recorded his first career double-double with 12 points, a career-high 11 rebounds and a career-high seven assists on March 8 vs. Houston, becoming just the second rookie this season with 12/11/7 in a game (Wembanyama) and the first Trail Blazers rookie with those stats since Clyde Drexler on March 27, 1984 ... Made his first NBA start at Denver on Feb 4 ... Has played in three regular season games (all starts) with the Rip City Remix, averaging 19.3 points, 8.7 rebounds, 1.7 assists and 1.3 steals in 33.1 minutes per game ... Logged his first career NBA game with multiple threes (2-4 3-PT) at Golden State on Dec. 6 ... Appeared in five games (all starts) on assignment with the Rip City Remix during the Showcase Cup, averaging 11.4 points, 6.6 rebounds, 1.8 assists, 1.0 steals and 1.8 blocks in 31.7 minutes per game ... Scored his first NBA points vs. Cleveland on Nov. 15 ... Made his NBA debut at the Clippers on Oct. 25.

PERSONAL: Has an identical twin, Keegan, who plays for the Sacramento Kings ... Has two other siblings, McKenna and Demetrius Harper ... Son of Kenyon and Michelle Murray ... Father, Kenyon Murray, also played basketball for lowa from (1993-96) ... Was named Kris as a tribute to his father's former teammate Chris Street, who died in an auto accident midway through his junior season ... Majored in Sport and Recreation Management ... Born in Cedar Rapids, Iowa ... His No. 25 at DME Academy was retired in the summer of 2022.





Rookie

#26 Duop Reath

Center • 6-10 • 245lbs • 6/26/96 • Al Riyadi/South Sudan

RI AZERS																
	GP	GS	PPG	RPG	APG	SPG	BPG	MP	G F	G%	3FG	%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	67	20	9.0	3.6	1.0	0.45	0.55	17.	8.4	162	.35	8	.736	PTS	26 at MIN 3/4/24	26 at MIN 3/4/24
Career	67	20	9.0	3.6	1.0	0.45	0.55	17.	8.4	162	.35	8	.736	FGM	10 at MIN 3/4/24	10 at MIN 3/4/24
	POI	NTS			REB	AST	BLK	ST	1					FGA	16 at MEM 3/1/24	16 at MEM 3/1/24
	10		20+	30+	10+	10+	3+			BL-D	RI	TPL	.NRI	3FGM	5 at MIN 3/4/24	5 at MIN 3/4/24
2023-24	3		3		1		2			1			-	3FGA	8 2 times (@ MEM, 3/1/24)	8 2 times (@ MEM, 3/1/24
Career	3		3		1		2			1		_	_	FTM	6 vs. OKC 3/6/24	6 vs. OKC 3/6/24
	_	-	0		-		2			-				FTA	7 vs. OKC 3/6/24	7 vs. OKC 3/6/24
RECENT GAME	S													OREB	5 vs. SAC 12/26/23	5 vs. SAC 12/26/23
OPPONENT	W/L	MIN	I FG-	A 3P-	A FT-	A OR	DR	TR A	PF	ST	TO	BS	PTS	DREB	10 at BKN 1/7/24	10 at BKN 1/7/24
4/12 vs. HOU	L	19:0	6 3-1	7 1-2	2 3-4	. 1	3	4 0	1	0	0	2	10	TREB	13 at BKN 1/7/24	13 at BKN 1/7/24
4/11 vs. GSW	L	14:1	3 2-1	0 1-4	4 3-3	3	2	5 (0	0	0	1	8	ASTS	5 at ATL 3/27/24	5 at ATL 3/27/24
4/9 vs. NOP	L	12:1	3 5-8	3 2-3	3 0-1	2	3	5 1	2	0	0	0	12	STLS	2 6 times (vs. LAC, 3/22/24)	2 6 times (vs. LAC, 3/22/2
4/7 at BOS	L	15:3	8 0-	5 0-3	3 0-0	2	3	5 1	0	0	0	0	0	BLKS	3 2 times (@ MEM, 3/2/24)	3 2 times (@ MEM, 3/2/24
4/5 at WAS	W	10:3	5 2-4	4 1-3	3 0-0	0	2	2 2	3	0	0	0	5	MINS	41 at BKN 1/7/24	41 at BKN 1/7/24

2023-24: Among NBA rookies, ranks 12th in total 3PM (86) and 11th in points per game (9.0) ... Ranks fourth among all rookie centers in NBA history in total 3PM (85) ... Tallied a career-high 26 points (10-14 FG, 5-6 3-PT, 1-2 FT) to go along with three rebounds, one assist, one steal and one block in 39 minutes at Minnesota on March 4 ... Signed to a standard NBA contract on Feb. 16, after previously being on a two-way contract ... Scored more three-pointers (34) than any rookie center in his first 25 career games in NBA history, passing Joel Embiid's previous record of 28 ... Recorded his first career double-double with 15 points (5-10 FG, 3-4 3-PT, 2-3 FT) and a career-high 13 rebounds and three blocks at Brooklyn on Jan. 7 ... Posted a career-high nine rebounds to go along with 25 points (9-15 FG, 3-6 3-PT, 4-4 FT), one steal and one block vs. Sacramento on Dec. 26, becoming just the third Trail Blazers rookie to record 25-plus points and nine-plus rebounds off the bench since 1975 ... Made at least one three-pointer in 10 consecutive games through Dec. 14, passing Meyers Leonard (nine) for the longest streak of games with a three by centers in franchise history ... Played in one game (one start) with the Rip City Remix at South Bay on Nov. 10, recording 37 points, 10 rebounds and two blocks and becoming only the second player in G League history to record 37-plus points, 10-plus rebounds and two-plus blocks in a G League debut since Bernard James of the Texas Legends in 2014 ... Made his NBA debut at the Lakers on Nov. 12, posting 11 points, three rebounds, three assists and one block in 14 minutes.

PERSONAL: Born in South Sudan ... Family moved to Australia looking for better situation due to the civil war in Sudan when he was nine years old ... Parents are Nyanen Juch and Thomas Duop ... Has six siblings: Dinaay, Choi, Chat, Nyadang, Chuatwech and Sebit ... Majored in interdisciplinary studies with minors in biology, health and sport studies.





Rookie

#72 Rayan Rupert

Guard/Forward • 6-8 • 195lbs • 5/31/04 • New Zealand Breakers/France

TI ATERS																
	GP	GS	PPG	RPG	APG	SPG	BPG	Μ	PG	FG%	3F	G%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	38	11	3.8	2.3	1.5	0.32	0.08	15	5.6	.336		366	.783	PTS	13 at MIN 3/4/24	13 at MIN 3/4/24
Career	38	11	3.8	2.3	1.5	0.32	0.08	15	5.6	.336		366	.783	FGM	5 at MIN 3/4/24	5 at MIN 3/4/24
	POI	NTS			REB	AST	BLK	S	TL				•	FGA	11 at ORL 4/1/24	11 at ORL 4/1/24
	10		20+	30+	10+	10+	3+	_	; +	DBL-	DRI	TP	PL-DBL	3FGM	3 5 times (@ BOS, 4/7/24)	3 5 times (@ BOS, 4/7/24)
2023-24	3													3FGA	6 3 times (vs. NOP, 4/9/24)	6 3 times (vs. NOP, 4/9/24)
Career	3							+		-	_			FTM	2 6 times (@ CHA, 4/3/24)	2 6 times (@ CHA, 4/3/24)
		<u> </u>												FTA	2 11 times (vs. HOU, 4/12/24)	2 11 times (vs. HOU, 4/12/24)
RECENT GAME	S													OREB	2 3 times (@ MIA, 3/29/24)	2 3 times (@ MIA, 3/29/24)
OPPONENT	W/L	MIN	I FG-	A 3P-	A FT-	A OR	DR	TR	A	PF S	T T() B	S PTS	DREB	6 2 times (@ WAS, 4/5/24)	6 2 times (@ WAS, 4/5/24)
4/12 vs. HOU	L	26:1	4 1-	6 1-4	1-2	1	1	2	5	0 1	. 1	0) 4	TREB	7 at WAS 4/5/24	7 at WAS 4/5/24
4/11 vs. GSW	L	28:3	3 1-	6 0-3	3 0-0	1	3	4	0	3 () 1	0) 2	ASTS	5 3 times (vs. HOU, 4/12/24)	5 3 times (vs. HOU, 4/12/24)
4/9 vs. NOP	L	33:1	3 2-	9 2-6	6 0-0	0	4	4	4	1 () 1	0) 6	STLS	2 at WAS 4/5/24	2 at WAS 4/5/24
4/7 at BOS	L	33:1	6 3-	8 3-6	6 0-0	1	2	3	2	3 1	. 1	. 0) 9	BLKS	1 3 times (@ WAS, 4/5/24)	1 3 times (@ WAS, 4/5/24)
4/5 at WAS	W	31:5	9 1-	8 1-5	5 0-0	1	6	7	4	5 2	2 1	1	. 3	MINS	39 at ATL 3/27/24	39 at ATL 3/27/24

2023-24: Made his first NBA start vs. Denver on March 23 ... Recorded a career-high 13 points (5-7 FG, 3-3 3-PT) and a career-high six rebounds in 23 minutes at Minnesota on March 4 ... Has played in six regular season games (all starts) with the Rip City Remix, averaging 12.7 points, 6.0 rebounds and 1.5 assists in 29.2 minutes per game ... Appeared in 15 games (all starts) on assignment with the Rip City Remix during the Showcase Cup, averaging 13.7 points, 6.2 rebounds, 2.4 assists and 0.9 steals in 32.1 minutes per game ... Scored his first NBA points on Nov. 14 at Utah ... Made his NBA debut at the Clippers on Oct. 25.

PERSONAL: Born in Strasbourg, France ... Became the fifth NBL Next Star, the NBL's player development program for top prospects, to be drafted directly from the NBL into the NBA, following LaMelo Ball, R.J. Hampton, Josh Giddey and Ousmane Dieng ... Graduated from the INSEP Academy in France before pursuing professional basketball ... His father, Thierry, was a EuroLeague player and captain of the French National Team ... His sister, Iliana, plays for the WNBA's Atlanta Dream.





2nd Year Pro

#17 Shaedon Sharpe

Guard • 6-6 • 2051bs • 5/30/03 • Kentucky/Canada

RI A7FRS															
	GP	GS	PPG	RPG	APG	SPG	BPG	MPO	G F	G%	3FG?	% FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	32	25	15.9	5.0	2.9	0.88	0.38	33.1	1.	406	.333	.824	PTS	29 2 times (@ CLE, 11/30/23)	30 vs. SAC 3/29/23
Career	112	40	11.6	3.5	1.7	0.59	0.32	25.3	3.4	445	.350	.772 (FGM	11 at CLE 11/30/23	11 at CLE 11/30/23
	POIN	TS			REB	AST	BLK	STL					FGA	23 vs. ORL 10/27/23	27 vs. SAC 3/29/23
	10-		20+	30+	10+	10+	3+	3+		BL-D	BI T	FPL-DBL	3FGM	5 vs. DAL 12/8/23	6 vs. SAC 3/29/23
2023-24	25		10		1			1		1			3FGA	11 vs. ORL 10/27/23	13 vs. SAC 3/29/23
Career	62		19	1	1			4	+	1			FTM	8 at DET 11/1/23	8 2 times (@ DET, 11/1/23)
	_	·	10	-	-			'		-			FTA	10 2 times (@ UTA, 11/14/23)	11 vs. OKC 3/26/23
RECENT GAME	S												OREB	4 2 times (vs. ORL, 10/27/23)	4 2 times (vs. ORL, 10/27/23)
OPPONENT	W/L	MIN	FG-A	3P-A	FT-A			R A	PF	ST	TO	BS PTS	DREB	10 at CLE 11/30/23	10 at CLE 11/30/23
4/12 vs. HOU	L					DN	D - Inju	ry					TREB	10 at CLE 11/30/23	10 at CLE 11/30/23
4/11 vs. GSW	L						D - Inju						ASTS	7 at UTA 11/14/23	7 2 times (@ UTA, 11/14/23)
4/9 vs. NOP	L					DN	D - Inju	ry					STLS	3 at IND 11/27/23	4 at UTA 3/22/23
4/7 at BOS	L					DN	D - Inju	ry					BLKS	2 2 times (@ DET, 11/1/23)	2 4 times (@ DET, 11/1/23)
4/5 at WAS	W					DN	D - Inju	ry					MINS	46 vs. MEM 11/3/23	46 vs. MEM 11/3/23

2023-24: While continuing to work towards full strength, he will miss the remaining four games and is expected to be ready ahead of the 2024-25 season. ... Earned his first Rising Stars selection on Jan. 30 ... Posted 27 points, six assists, three rebounds and one steal at the LA Clippers on Dec. 11, marking his fifth consecutive game with 24-plus points, which is the longest streak of 24-plus point games in his career ... Tallied 24 points (7-15 FG, 5-10 3-PT, 5-6 FT), nine rebounds, five assists and one steal in 32 minutes vs. Dallas on Dec. 8, marking his second career game with five-plus threes ... Recorded his first career double-double at Cleveland on Nov. 30 with a team-high 29 points (11-15 FG, 4-7 3-PT, 3-3 FT) and a career-high 10 rebounds to go along with five assists ... His five assists in the first half at Indiana on Nov. 27 set a career high for assists in a half ... Crossed the 1,000-point mark with his sixth point vs. the Lakers on Nov. 17, becoming the youngest player in franchise history to reach 1,000 career points (20 years, 171 days) ... Logged 29 points at Detroit on Nov. 1, which was tied for the second most points he has scored in a game ... His 26 points in the second half and 15 points in the third quarter on Nov. 1 set new career highs ... Became the youngest player in franchise history to record 29-plus points, seven-plus rebounds, five-plus assists and three 3PM in a game at Detroit on Nov. 1 ... Tallied his 10th career 20-point game with 24 points vs. Orlando on Oct. 27.

PERSONAL: Born in London, Ontario to parents Julia Bell and Robert Sharpe ... Has two siblings, Nishayne and Amari ... His cousin, Dasan Brown, plays for the MLB's Toronto Blue Jays ... Played for Portland's 2022 NBA Summer League Championship team ... Also played football growing up ... Studied marketing at Kentucky.





6th Year Pro

#1 Anfernee Simons

Guard • 6-4 • 193lbs • 6/8/99 • IMG Academy/USA

	GP	GS	PPG	RPG	APG	SPG	BPG	MPG	FG%	3FG%	6 FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	46	46	22.6	3.6	5.5	0.50	0.11	34.4	.430	.385	.916	PTS	41 vs. WAS 12/21/23	45 at UTA 12/3/22
Career	319	143	14.1	2.5	2.9	0.44	0.13	25.5	.432	.386	.873	FGM	15 vs. WAS 12/21/23	15 2 times (vs. WAS,
	POIN	ITS			REB	AST	BLK	STL			•	İ		12/21/23)
	10		20+	30+	10+	10+	3+	3+	DBL-D	RI T	PL-DBL	FGA	28 vs. WAS 12/21/23	28 vs. WAS 12/21/23
2023-24	4		29	11		3		1	3			3FGM	7 3 times (@ SAS, 1/26/24)	9 5 times (@ WAS, 2/3/23)
Career	19		88	30	1	5		6	6			3FGA	15 at SAS 1/26/24	17 at MIN 3/5/22
Galeel	15	1	00	30	1	3		0	0			FTM	13 at LAC 12/11/23	13 at LAC 12/11/23
RECENT GAME	S											FTA	13 at LAC 12/11/23	13 at LAC 12/11/23
OPPONENT	W/L	MIN	FG-A	3P-A	FT-A	OR [DR TR	A	PF ST	TO I	3S PTS	OREB	2 7 times (vs. ATL, 3/13/24)	3 3 times (vs. UTA, 12/29/21
4/12 vs. HOU	L					Inacti	ve - Injı	ury				DREB	6 3 times (@ MEM, 3/2/24)	9 at UTA 12/26/19
4/11 vs. GSW	L					DND) - Injury	у				TREB	8 vs. DAL 12/16/23	10 at UTA 12/26/19
4/9 vs. NOP	L					Inacti	ve - Injı	ury				ASTS	14 at MIN 3/4/24	14 at MIN 3/4/24
4/7 at BOS	L					Inacti	ve - Inji	ury				STLS	3 vs. HOU 3/8/24	4 vs. UTA 11/19/22
4/5 at WAS	W					DND) - Injur	у				BLKS	1 5 times (vs. LAC, 3/20/24)	2 5 times (vs. DAL, 1/14/23)
												MINS	45 at BKN 1/7/24	48 vs. SAC 4/10/19

2023-24: Passed Nicolas Batum to move up to the fifth spot on the Trail Blazers' all-time 3PM list (752) vs. the Clippers on March 22 ... Recorded 30 points, nine assists and three rebounds at Chicago on March 18, marking his 30th career game with at least 30 points and passing Jim Paxson to move up to the ninth spot for the most games with 30-plus points in Trail Blazers history ... Tallied his 53rd career game with at least five 3PM vs. New Orleans on March 16, which ranks third in Trail Blazers history ... Posted 36 points (10-23 FG, 5-13 3-PT, 11-11 FT), seven rebounds, eight assists and one steal vs. Atlanta on March 13, marking his 29th career game with 30-plus points and tying Jim Paxson for the ninth-most games with at least 30 points in franchise history ... Logged a game-high 34 points (13-26 FG, 5-13 3-PT, 3-3 FT) and a career-high 14 assists to go along with five rebounds in 43 minutes at Minnesota on March 4, becoming just the fifth player in the NBA to record 34-plus points and 14-plus assists in a game this season (Luka Doncic, Nikola Jokic, Tyrese Haliburton, Trae Young) and passing Damon Stoudamire to move up to the sixth spot on Portland's all-time 3PM list ... Became just the sixth player in Trail Blazers history to record 40-plus points and 10-plus assists in a game at San Antonio on Jan. 26 ... Tied the fifth spot for the most games with at least 40 points in franchise history and moved up to the 10th spot for the most games with at least 30 points in franchise history at San Antonio on Jan. 26 ... Recorded his 49th career game with at least five 3PM vs. San Antonio on Jan. 26, ranking third in Trail Blazers history ... Posted 38 points (13-25 FG, 5-10 3-PT, 7-8 FT) and a career-high (tie) 11 assists at Brooklyn on Jan. 7, marking his first career game with 35-plus points and 10-plus assists, his fifth game with 30-plus points this season and his 24th career game with at least 30 points ... Logged a season-high 41 points (15-28 FG, 7-14 3-PT, 4-5 FT) to go along with four rebounds and seven assists vs. Washington on Dec. 21, marking the second most points he has scored in a game and his third career game with 40-plus points ... His 22 points in the fourth on Dec. 21 were a career high for the fourth quarter ... Tallied a team-high 33 points, six assists and two steals (tie) to go along with eight rebounds vs. Dallas on Dec. 16, marking his third game of six total games so far this season with 30-plus points ... Recorded a season-high 38 points to go along with four assists and one block at the LA Clippers on Dec. 11, marking the fourth time in his career he has scored 30-plus points in consecutive games and his 21st career game with 30-plus points ... Returned to action at Golden State on Dec. 6 after missing 18 games due to a ligament tear in his right thumb ... Underwent successful right thumb surgery on Oct. 31 to repair a torn ulnar collateral ligament from an injury sustained on Oct. 25 at the Clippers in Portland's first game of the regular season.

PERSONAL: Born in Longwood, Fla. ... Son of Charles and Tameka ... Named after former NBA player, Anfernee "Penny" Hardaway ... Launched his foundation, Be A Light Inc., in July 2020 to inspire, motivate and educate disadvantaged and at-risk children and young adults ... Had his No. 0 high school jersey retired at Edgewater High School on Oct. 24, 2018.





5th Year Pro

#4 Matisse Thybulle

Guard/Forward • 6-6 • 202lbs • 3/4/97 • Washington/USA

DI A7ERS														
	GP	GS	PPG	RPG	APG	SPG	BPG	MPG	FG%	3FG%	% FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	65	19	5.4	2.1	1.4	1.74	0.75	22.9	.397	.346	.759	PTS	16 vs. OKC 3/6/24	20 vs. TOR 12/8/19
Career	332	119	4.8	2.0	1.1	1.53	0.81	21.0	.435	.338	.679	FGM	5 7 times (vs. TOR, 3/9/24)	6 4 times (vs. NYK, 3/14/23)
	POIN	TS			REB	AST	BLK	STL				FGA	10 at MEM 3/1/24	12 at TOR 1/22/20
	10-		20+	30+	10+	10+	3+	3+	DBL-D	IRI T	PL-DBL	3FGM	4 2 times (@ DAL, 1/3/24)	5 2 times (@ GSW, 2/28/23)
2023-24	11						2	18				3FGA	8 at LAL 11/12/23	9 at TOR 1/22/20
Career	41		1				20	79				FTM	4 at SAC 11/8/23	4 2 times (@ SAC, 11/8/23)
		· .	-				20	10				FTA	5 at SAC 11/8/23	5 at SAC 11/8/23
RECENT GAME	S											OREB	3 2 times (vs. HOU, 3/8/24)	4 3 times (@ ORL, 3/5/23)
OPPONENT	W/L	MIN	FG-A	3P-A	FT-A	OR	DR TR	A I	PF ST	TO	BS PTS	DREB	6 vs. OKC 3/6/24	7 vs. NYK 3/14/23
4/12 vs. HOU	L					DND) - Injury	y				TREB	8 vs. DAL 12/8/23	9 at POR 8/9/20
4/11 vs. GSW	L					Inacti	ve - Injı	Jry				ASTS	7 vs. DET 2/8/24	7 vs. DET 2/8/24
4/9 vs. NOP	L					DND) - Injury	y				STLS	6 vs. CHA 2/25/24	6 3 times (vs. CHA, 2/25/24)
4/7 at BOS	L					DND) - Injury	y				BLKS	3 2 times (vs. BOS, 3/11/24)	4 3 times (vs. NOP, 3/1/23)
4/5 at WAS	W					DND) - Injury	y				MINS	38 vs. DET 2/8/24	39 at BKN 12/30/21

2023-24: Ranks first in the NBA in blocked three-pointers (25), first in steal/turnover ratio (2.83), first in deflections per 36 (5.3), first in steals per 36 (2.7), first in steals per 100 possessions (3.7), third in steals per game (1.7), fourth (tie) in total steals (113), fourth in deflections per game (3.4) and eighth in total deflections (220) ... Tallied his 500th career steal vs. Oklahoma City on March 6 ... Recorded his 100th steal of the season at Memphis on March 2, becoming just the second NBA player to reach the mark this season (S. Gilgeous-Alexander) ... Tied his career high in steals with six vs. Charlotte on Feb. 25 ... Posted at least one steal in 27 consecutive games from Nov. 15-Jan. 12, marking the longest streak of his career, the second-longest streak in the NBA this season and the third-longest streak (tie) in Trail Blazers history ... Logged his 16th career game with at least three 3PM (3-5 3-PT) vs. Dallas on Dec. 8, with eight of these games occurring during his time with the Trail Blazers ... Tallied four steals at Sacramento on Nov. 8, tying the second most total steals (25) by a player in the NBA since the 2019-20 season (Jimmy Butler, 32; Fred VanVleet, 25) ... Shot 3-of-4 from three at Toronto on Oct. 30, marking his 11th career game with at least 3PM.

PERSONAL: Wears the No. 4 because it was his number since fourth grade, his birthday is March 4 and it was his mother's favorite number ... Named after French painter Henri Matisse ... Lived in Australia for four years when he was younger and has dual citizenship ... Born in Scottsdale, Ariz. ... His YouTube channel has 425,000+ subscribers.





2nd Year Pro

#34 Jabari Walker

orward • 6-9 • 227lbs • 7/30/02 • Colorado/USA

RI A7ERS																	
	GP	GS	PPG	RPG	APG	SPG	BPG	Ν	APG	FG	%	3FC	3%	FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	72	23	8.9	7.1	1.0	0.58	0.31	2	23.6	.4	60	.29	95	.754	PTS	25 vs. SAS 12/29/23	25 vs. SAS 12/29/23
Career	128	23	6.7	5.0	0.8	0.41	0.27	1	8.1	.4	48	.29	92	.755	FGM	8 2 times (@ MEM, 3/2/24)	8 2 times (@ MEM, 3/2/24)
	POIN	TS			REB	AST	BL		STL						FGA	17 at CHA 4/3/24	17 at CHA 4/3/24
	10		20+	30+	10+	10+	3+		3+	DR	L-D	RI	TPI -	-DBL	3FGM	3 vs. CLE 11/15/23	4 vs. SAC 3/31/23
2023-24	28		1		16				2		11				3FGA	7 at OKC 1/23/24	7 at OKC 1/23/24
Career	35		1		16				2		11		-	-	FTM	10 vs. SAS 12/29/23	10 vs. SAS 12/29/23
		,	T		10				L		11				FTA	13 vs. SAS 12/29/23	13 vs. SAS 12/29/23
RECENT GAME	S					_									OREB	7 vs. GSW 4/11/24	7 vs. GSW 4/11/24
OPPONENT	W/L	MIN	FG-/	A 3P-1	A FT-A	OR	DR	TR	A	PF	ST	TO	BS	PTS	DREB	19 at CHA 4/3/24	19 at CHA 4/3/24
4/12 vs. HOU	L	14:2	5 3-4	1-1	2-4	1	4	5	0	1	0	1	0	9	TREB	22 at CHA 4/3/24	22 at CHA 4/3/24
4/11 vs. GSW	L	36:18	8 6-14	1 2-3	3-4	7	9	16	1	3	1	0	0	17	ASTS	5 at ORL 4/1/24	5 at ORL 4/1/24
4/9 vs. NOP	L	28:1	5 2-5	0-1	0-0	2	8	10	0	2	0	1	0	4	STLS	4 at PHI 10/29/23	4 at PHI 10/29/23
4/7 at BOS	L	34:20	0 5-16	6 0-3	4-4	6	12	18	0	3	1	2	0	14	BLKS	2 2 times (vs. DET, 2/8/24)	2 3 times (vs. DET, 2/8/24)
4/5 at WAS	W	39:24	4 2-6	2-4	5-8	3	10	13	3	3	0	3	0	11	MINS	43 vs. DET 2/8/24	43 vs. DET 2/8/24

2023-24: Among NBA sophomores, ranks fifth in rebounds per game (7.1) ... Posted a career-high 22 rebounds at Charlotte on April 3, topping his previous career high of 13 ... Logged consecutive double-doubles for the first time in his career in back-to-back games at Memphis on March 2 (18 points, 12 rebounds) and March 1 (19 points, 10 rebounds) ... His 15 points in the first half vs. Detroit on Feb. 8 were a career high for a half ... Tallied a career-high 25 points (7-11 FG, 1-2 3-PT, 10-13 FT) to go along with nine rebounds, one steal and one block vs. San Antonio on Dec. 29, becoming just the 10th player in the NBA this season to score 25-plus points on 11 or fewer shot attempts ... Recorded 17 points (6-8 FG, 1-2 3-PT, 4-5 FT) vs. Sacramento on Dec. 26, marking the second-highest scoring game of his career ... Posted 19 points (8-15 FG, 2-3 3-PT, 1-2 FT) and a career-high 10 rebounds to go along with two steals in 28 minutes vs. Utah on Nov. 22, marking his first career double-double ... Logged his 10th career game scoring in double figures vs. Cleveland on Nov. 15 with 12 points.

PERSONAL: Born in Wichita, Kansas ... Son of Jo Dudley and Samaki Walker ... Played for Portland's 2022 NBA Summer League Championship team ... Father was a 10-year NBA veteran and a 2002 NBA Champion with the Los Angeles Lakers ... Has a brother, Dibaji, who played basketball at UMass, and a sister, Sakima, who played basketball at Rutgers ... Plays the saxophone ... Majored in communications at Colorado.





6th Year Pro

#35 Robert Williams III

Center • 6-10 • 249lbs • 10/17/97 • Texas A&M/USA

BI A7FRS														
	GP	GS	PPG	RPG	APG	SPG	BPG	MPG	FG%	3FG%	G FT%		2023-24 HIGHS	CAREER HIGHS
2023-24	6	0	6.8	6.3	0.8	1.17	1.17	19.8	.654	.000	.778	PTS	10 at LAC 10/25/23	21 vs. CLE 12/22/21
Career	215	97	7.3	6.9	1.4	0.74	1.65	20.5	.729	.000	.660	FGM	5 at LAC 10/25/23	10 vs. CLE 12/22/21
	POIN	ITS			REB	AST	BLK	STL			•	FGA	7 at LAC 10/25/23	12 3 times (vs. DEN, 2/11/22)
	10-		20+	30+	10+	10+	3+	3+	DBL-D	BL T	PL-DBL	3FGM		
2023-24	1				1		1	1				3FGA		1 4 times (vs. MEM, 2/12/23)
Career	74	L	2		55	1	52	8	35		1	FTM	2 3 times (vs. MEM, 11/3/23)	6 2 times (vs. IND, 1/10/22)
			L			-			00		1	FTA	3 vs. MEM 11/3/23	8 2 times (@ NYK, 10/20/21)
RECENT GAME	S											OREB	4 vs. MEM 11/3/23	10 vs. LAC 12/29/21
OPPONENT	W/L	MIN	FG-A	3P-A	FT-A	OR	DR TR	A	PF ST	TO	BS PTS	DREB	8 at DET 11/1/23	14 vs. CHA 2/10/23
4/12 vs. HOU	L					Inacti	ive - Injı	ury				TREB	10 vs. MEM 11/3/23	17 vs. SAC 1/25/22
4/11 vs. GSW	L					Inacti	ive - Injı	Jry				ASTS	2 2 times (@ PHI, 10/29/23)	10 vs. PHX 12/31/21
4/9 vs. NOP	L					Inacti	ive - Injı	ury				STLS	3 at LAC 10/25/23	5 vs. DEN 2/16/21
4/7 at BOS	L					Inacti	ive - Injı	ury				BLKS	3 at DET 11/1/23	7 at NYK 1/6/22
4/5 at WAS	W					Inacti	ive - Injı	Jry				MINS	26 at PHI 10/29/23	45 at NYK 10/20/21

2023-24: Underwent successful right knee surgery on Nov. 13 to reconstruct a torn ligament in his right knee after he sustained a patellar dislocation vs. Memphis on Nov. 5 ... Is expected to make a full recovery for the 2024-25 season ... Averaged 6.8 points, 6.3 rebounds, 1.17 steals and 1.17 blocks in 19.8 minutes per game in six games with Portland before his injury.

PERSONAL: Full name is Robert Lee Williams ... Son of Robert and Tundra Williams ... Has a sister, Brittanni ... Majored in recreation, park and tourism science.



2023-24 GAME-BY-GAME STATS



						TR	AIL BLAZ	FRS								OPPONEN	TS				
		OVERALL			1ST		NIE DENE		1ST	BIGGEST				1ST		of FontEn	2ND	1ST	BIGGEST		POINT
DATE	OPPONENT	REC	W/L 1	ST 2ND	1ST Half	3RD	4TH	2ND Half	OT	LEAD	TOTAL	1ST	2ND	1ST HALF	3RD	4TH	HALF	OT	LEAD	TOTAL	DIFF.
10/25	at LA Clippers	0-1		20 27	47	26	38	64		0	111	29	38	67	32	24	56		30	123	-12
10/27	Orlando	0-2		26 29	55	25	17	42		5	97	31	32	63	19	20	39		13	102	-5
10/29	at Philadelphia	0-3		28 32	60	21	17	38		6	98	36	30	66	33	27	60		31	126	-28
10/30	at Toronto	1-3		21 26	47	33	19	52		8	99	25	25	50	24	17	41		7	91	8
11/1 11/3	at Detroit	2-3 3-3		26 21 33 21	47 54	36 22	27 26	63 48	 13	9 7	110 115	32 26	27 27	59 53	25 24	17	42 49	 11	18 11	101 113	9
11/5	Memphis Memphis	3-3 3-4		32 23	55	31	20 14	40 45		12	100	30	33	63	24 19	25 30	49		11	113	2 -12
11/8	at Sacramento	3-5		29 31	60	24	27	51	7	5	118	34	22	56	29	26	55	10	10	121	-3
11/12	at LA Lakers	3-6		28 29	57	23	30	53		8	110	31	25	56	35	25	60		14	116	-6
11/14	at Utah	3-7		28 30	58	28	13	41		3	99	36	31	67	28	20	48		17	115	-16
11/15	Cleveland	3-8		25 22	47	28	20	48		3	95	30	25	55	28	26	54		18	109	-14
11/17	LA Lakers	3-9		23 27	50	25	20	45		0	95	30	30	60	22	25	47		17	107	-12
11/19	Oklahoma City	3-10		21 22	43	23	25	48		2	91	33	43	76	25	33	58		47	134	-43
11/21	at Phoenix	3-11		21 30	51	31	25	56		2	107	34	22	56	38	26	64		18	120	-13
11/22 11/26	Utah at Milwaukee	4-11 4-12		32 33 31 37	65 68	24 20	32 14	56 34		32 26	121 102	21 26	25 26	46 52	27 23	32 33	59 56		0 6	105 108	16 -6
11/20	at Indiana	5-12		30 35	65	18	31	34 49		8	102	34	20	60	23	27	50		4	110	-0
11/30	at Cleveland	6-12		22 18	40	34	29	63		12	103	25	21	46	29	20	49		16	95	8
12/2	at Utah	6-13		24 20	44	30	32	62	7	6	113	21	35	56	28	22	50	12	16	118	-5
12/6	at Golden State	6-14		26 29	55	31	20	51		11	106	22	26	48	34	28	62		4	110	-4
12/8	Dallas	6-15	L	22 38	60	30	22	52		0	112	37	34	71	26	28	54		19	125	-13
12/11	at LA Clippers	6-16		32 33	65	34	28	62		5	127	43	23	66	39	27	66		14	132	-5
12/14	Utah	6-17		30 24	54	22	38	60		3	114	38	31	69	34	19	53		33	122	-8
12/16	Dallas Coldon State	6-18		39 24 23 26	63	36 35	21	57		8 0	120	36	38	74 65	36	21	57		18	131	-11
12/17 12/19	Golden State Phoenix	6-19 7-19		23 26 20 29	49 49	35 38	30 22	65 60		0 14	114 109	27 36	38 25	65 61	24 20	29 23	53 43		22 16	118 104	-4 5
12/19	Washington	7-19		20 29 24 30	49 54	38 26	22 37	63		14	109	30	25 34	67	20	23 25	43 51		16	104	э -1
12/23	at Golden State	7-20		30 16	46	31	29	60		11	106	23	34	57	32	37	69		23	126	-20
12/26	Sacramento	8-21		32 35	67	37	26	63		20	130	33	27	60	35	18	53		8	113	17
12/28	San Antonio	8-22	L	14 31	45	29	31	60		0	105	38	21	59	28	31	59		28	118	-13
12/29	San Antonio	9-22		29 42	71	33	30	63		26	134	29	27	56	38	34	72		5	128	6
1/1	at Phoenix	9-23		29 18	47	14	27	41		9	88	20	35	55	31	23	54		26	109	-21
1/3	at Dallas	9-24		25 22	47	27	23	50		0	97	35	43	78	24	24	48		38	126	-29
1/5	at Dallas at Brooklyn	9-25		26 27	53	16	34	50		5 7	103	38	24	62	40	37	77		39	139	-36
1/7 1/9	at New York	10-25 10-26		26 24 22 19	50 41	35 20	30 23	65 43	19	0	134 84	30 38	22 25	52 63	41 34	22 15	63 49	12	10 39	127 112	7 -28
1/11	at Oklahoma City	10-20		24 15	39	17	23	38		5	77	36	39	75	43	21	49 64		62	139	-62
1/12	at Minnesota	10-27		15 27	42	15	36	51		0	93	36	27	63	25	28	53		36	116	-23
1/14	Phoenix	10-29		33 28	61	31	24	55		7	116	31	40	71	35	21	56		17	127	-11
1/17	Brooklyn	11-29		24 27	51	23	31	54		7	105	23	29	52	31	20	51		11	103	2
1/19	Indiana	12-29		34 30	64	24	30	54		13	118	31	22	53	28	34	62		7	115	3
1/21	at LA Lakers	12-30		31 23	54	33	23	56		0	110	36	31	67	36	31	67		27	134	-24
1/23	at Oklahoma City	12-31		28 38	66	20	23	43		9 7	109	38	20	58	30	23	53		13	111	-2
1/24 1/26	at Houston at San Antonio	13-31 13-32		30 27 33 24	57 57	41 21	26 22	67 43	13	7	137 100	31 26	32 36	63 62	33 26	28 28	61 54	7	13 18	131 116	6 -16
1/28	Chicago	13-32		23 19	42	33	21	43 54		1	96	26	27	53	20	28	51		10	104	-10
1/29	Philadelphia	14-33		20 38	58	36	36	72		31	130	28	27	55	22	27	49		8	104	26
1/31	Milwaukee	15-33		37 30	67	29	23	52		10	119	38	27	65	26	25	51		8	116	3
2/2	at Denver	15-34		20 35	55	29	24	53		2	108	33	26	59	33	28	61		15	120	-12
2/4	at Denver	15-35		37 26	63	21	19	40		14	103	25	35	60	26	26	52		15	112	-9
2/8	Detroit	15-36		30 41	71	26	23	49	2	23	122	25	31	56	28	36	64	8	6	128	-6
2/10	New Orleans Minnesota	15-37		24 16 25 26	40 51	23	21	44		2 7	84 109	29 37	18 22	47 59	17 25	29 37	46		13 20	93 121	-9 -12
2/13 2/15	Minnesota	15-38 15-39		23 26 14 37	51	32 25	26 15	58 40		2	91	57 44	22	66	33	29	62 62		38	121	-12 -37
2/23	Denver	15-40		20 28	48	29	35	64		5	112	25	38	63	32	32	64		22	127	-15
2/25	Charlotte	15-41		18 16	34	25	21	46		3	80	24	23	47	23	23	46		21	93	-13
2/27	Miami	15-42	L	28 28	56	20	20	40		15	96	15	31	46	34	26	60		12	106	-10
3/1	at Memphis	16-42		17 34	51	40	31	71		33	122	21	24	45	27	20	47		4	92	30
3/2	at Memphis	17-42		25 22	47	14	34	48	12	8	107	20	31	51	27	17	44	5	18	100	7
3/4	at Minnesota	17-43		26 22	48	34	32	66		7	114	28	27	55	33	31	64		15	119	-5
3/6	Oklahoma City Houston	17-44 17-45		27 30 31 32	57 63	30 24	33 20	63 44		0 12	120 107	32 28	33 27	65 55	32 37	31 31	63 68		16 18	128 123	-8 -16
3/8 3/9	Toronto	17-45 18-45		31 32 33 30	63 63	24 29	20 21	44 50	 15	21	107	28 16	30	55 46	37 35	31 32	68 67	5	18	123	-16 10
3/11	Boston	18-45		28 24	52	23	24	47		2	99	37	29	40 66	22	33	55		24	121	-22
3/13	Atlanta	19-46		17 30	47	35	24	59		9	106	24	28	52	23	27	50		16	102	4
3/14	New York	19-47		25 16	41	27	25	52		7	93	26	29	55	30	20	50		22	105	-12
3/16	at New Orleans	19-48	L	33 35	68	24	15	39		5	107	36	37	73	29	24	53		19	126	-19
3/18	at Chicago	19-49		27 22	49	26	32	58		3	107	29	25	54	35	21	56		16	110	-3
3/20	LA Clippers	19-50		28 22	50	20	33	53		6	103	27	33	60	34	22	56		27	116	-13
3/22 3/23	LA Clippers	19-51 19-52		27 26 22 25	53 47	27 36	37	64 64		1 2	117	42 26	28 31	70 57	31 28	24	55 57		26 15	125	-8 -3
3/23 3/25	Denver at Houston	19-52 19-53		22 25 25 26	47 51	36 20	28 21	64 41		2	111 92	26 28	31 19	57 47	28 33	29 30	57 63		15 20	114 110	-3 -18
3/27	at Atlanta	19-54		29 29	58	28	20	41		4	106	26	39	65	35	20	55		19	120	-18
3/29	at Miami	19-55		19 21	40	23	19	42		5	82	29	45	74	33	35	68		60	142	-60
4/1	at Orlando	19-56	L	23 25	48	25	30	55		4	103	22	33	55	28	21	49		15	104	-1
4/3	at Charlotte	20-56	W S	30 15	45	22	22	44		11	89	21	23	44	22	20	42		4	86	3
4/5	at Washington	21-56		32 27	59	27	22	49		12	108	27	24	51	30	21	51		6	102	6
4/7	at Boston	21-57		24 32	56	29	22	51		3	107	30	33	63	30	31	61		19	124	-17
4/9 4/11	New Orleans Golden State	21-58 21-59		27 28 22 24	55 46	23 28	22 18	45 46		11 7	100 92	28 24	24 25	52 49	35 26	23 25	58 51		20 10	110 100	-10 -8
4/11 4/12	Houston	21-59		22 24 24 16	40	20 35	32	40 67		8	92 107	24	25 31	49 54	20 30	32	62		20	100	-o -9
	2023-24 TOTALS	21-60		118 2,172	4,290	2,198	2,064	4,262	88		8,640	2,407	2,361	4,768	2,387	2,116	4,503	70		9,341	-701
	AVG/GAME			6.1 26.8	53.0	27.1	25.5	52.6	11.0	7.8	106.7	29.7	29.1	58.9	29.5	26.1	55.6	8.8	18.4	115.3	-8.7

2023-24 GAME-BY-GAME STATS



DATE	CAME		50	501	DOT	050	0501	207			DOT			050	107	25	07	70		DTO
DATE	GAME	W/L	FG	FGA 93	PCT	3FG	3FGA 32	PCT	FT	FTA	PCT	OR	DR	REB 40	AST 20	PF	ST	T0	BS	PTS
10/25	Trail Blazers	L	44	93	0.473 0.522	10 16	32 34	0.313 0.471	13 13	17	0.765 0.813	15 14	25 31	40	36	20 20	10	18 18	4	111 123
19,370 10/27	at Clippers	L	35	88	0.322	9	32	0.471	13	21	0.813	14	32	43	15	20	6	16	1	97
19,464	Trail Blazers	L	36	79	0.456	9	28	0.321	21	32	0.656	10	35	47	22	16	10	10	5	102
19,404	vs. Magic Trail Blazers	L	36	94	0.383	7	31	0.321	19	22	0.864	10	28	43	19	26	10	14	9	98
19,768	at 76ers	L .	40	82	0.488	11	28	0.393	35	40	0.875	14	40	51	28	20	10	16	17	126
10/30	Trail Blazers	W	38	85	0.447	11	35	0.314	12	15	0.800	13	38	51	20	19	6	16	7	99
19,266	at Raptors		38	94	0.404	4	29	0.138	11	15	0.733	10	33	47	19	17	10	12	4	91
11/1	Trail Blazers	W	38	81	0.469	7	20	0.350	27	33	0.818	7	37	44	23	15	10	17	7	110
16,912	at Pistons		40	90	0.444	11	29	0.379	10	11	0.909	6	32	38	24	31	12	18	4	101
11/3	Trail Blazers	W	39	96	0.406	9	32	0.281	28	36	0.778	15	35	50	19	15	12	14	7	115
18,592	vs. Grizzlies		47	96	0.490	10	35	0.286	9	13	0.692	7	41	48	29	25	8	17	10	113
11/5	Trail Blazers	L	37	95	0.389	14	45	0.311	12	15	0.800	16	31	47	23	21	11	14	5	100
18,187	vs. Grizzlies		45	89	0.506	13	32	0.406	9	13	0.692	10	39	49	27	18	6	17	7	112
11/8	Trail Blazers	L	44	87	0.506	8	22	0.364	22	29	0.759	7	29	36	26	29	10	18	5	118
17,829	at Kings		41	89	0.461	11	37	0.297	28	38	0.737	15	35	50	32	24	11	21	6	121
11/12	Trail Blazers	L	45	90	0.500	13	37	0.351	7	9	0.778	5	33	38	29	25	2	16	8	110
18,997	at Lakers		41	84	0.488	4	19	0.211	30	37	0.811	7	34	41	27	11	8	9	4	116
11/14	Trail Blazers	L	37	88	0.420	11	35	0.314	14	20	0.700	13	30	43	23	15	5	17	6	99
18,206	at Jazz		44	95	0.463	13	43	0.302	14	15	0.933	16	36	52	26	18	11	13	6	115
11/15	Trail Blazers	L	34	91	0.374	13	38	0.342	14	16	0.875	8	22	30	24	21	9	14	3	95
18,137	vs. Cavaliers	-	42	75	0.560	9	30	0.300	16	21	0.762	7	40	47	23	16	5	18	9	109
11/17	Trail Blazers	L	36	89	0.404	10 12	37 29	0.270	13	18 22	0.722	19	29 33	48 44	17 27	17	11	19 18	2	95 107
18,570	vs. Lakers	L	34	81 85	0.494	9	34	0.414 0.265	15 14	22	0.682	11 13	18	31	21	16 15	10	18	2	91
11/19 18,235	Trail Blazers vs. Thunder	L	49	85	0.400	9 22	34 36	0.265	14	14	1.000	13	33	43	21 28	15	8	19	3	134
18,235	Trail Blazers	L	38	81	0.605	14	30	0.452	14	20	0.850	10	18	30	28	20	8	18	3	134
17,071	at Suns	L	43	76	0.437	7	17	0.452	27	20	0.850	12	27	30	20	18	8	15	8	107
11/22	Trail Blazers	W	43	92	0.511	17	39	0.412	10	15	0.667	11	23	37	31	21	9	13	6	120
17,819	vs. Jazz		37	79	0.468	10	31	0.323	21	26	0.808	14	30	44	25	13	7	24	3	105
11/26	Trail Blazers	L	37	91	0.407	13	32	0.406	15	20	0.750	11	29	40	21	26	15	20	4	102
17,602	at Bucks		35	89	0.393	14	42	0.333	24	32	0.750	18	34	52	19	20	13	17	11	108
11/27	Trail Blazers	W	40	85	0.471	9	18	0.500	25	31	0.806	9	29	38	20	21	6	16	4	114
14,508	at Pacers		42	88	0.477	8	33	0.242	18	24	0.750	10	32	42	26	24	10	20	6	110
11/30	Trail Blazers	W	39	77	0.506	14	35	0.400	11	11	1.000	9	31	40	29	17	10	23	4	103
19,432	at Cavaliers		38	89	0.427	7	32	0.219	12	12	1.000	14	21	35	25	15	12	19	2	95
12/2	Trail Blazers	L	38	95	0.400	13	40	0.325	24	27	0.889	11	29	40	17	20	11	11	5	113
18,206	at Jazz		46	94	0.489	7	34	0.206	19	24	0.792	16	40	56	27	21	5	18	11	118
12/6	Trail Blazers	L	39	95	0.411	16	46	0.348	12	16	0.750	11	29	40	22	30	8	10	3	106
18,064	at Warriors		36	86	0.419	10	34	0.294	28	33	0.848	15	35	50	20	19	4	17	3	110
12/8	Trail Blazers	L	39	105	0.371	18	53	0.340	16	18	0.889	18	30	48	20	24	9	15	1	112
18,762	vs. Mavericks		47	91	0.516	12	39	0.308	19	22	0.864	9	33	42	26	23	8	15	5	125
12/11	Trail Blazers	L	43	90	0.478	19	40	0.475	22	26	0.846	11	25	36	25	21	5	12	4	127
17,102	at Clippers	<u> </u>	49	89	0.551	13	34	0.382	21	22	0.955	9	26	35	33	20	7	9	9	132
12/14	Trail Blazers	L	43	103	0.417	16	45	0.356	12	18	0.667	21	28	49	30	12	9	11	4	114
17,842	vs. Jazz	L	49	92 94	0.533	11 7	33	0.333 0.219	13 19	14 22	0.929	13 10	32	45 44	27	14 21	9	11 11	9	122 120
12/16	Trail Blazers	L	47	94	0.500	16	3Z 47	0.219	19	22	0.864	10	34	44	27	17	7	11	2	120
18,439 12/17	vs. Mavericks Trail Blazers	L	40	85	0.471	13	35	0.340	21	23	0.913	9	28	37	23	20	10	13	4	1114
18,547	vs. Warriors	L	40	87	0.529	13	38	0.342	13	19	0.684	11	32	43	31	20	10	14	4	114
12/19	Trail Blazers	W	39	87	0.448	14	28	0.500	10	19	0.895	10	32	42	23	18	8	17	4	109
18,233	vs. Suns		42	94	0.447	5	23	0.217	15	21	0.714	14	33	47	23	15	10	15	6	100
12/21	Trail Blazers	L	43	95	0.453	14	30	0.467	17	23	0.739	20	31	51	24	27	7	16	6	117
18,690	vs. Wizards		42	84	0.500	12	30	0.400	22	32	0.688	7	30	37	26	17	9	12	6	118
12/23	Trail Blazers	L	38	84	0.452	13	35	0.371	17	25	0.680	8	22	30	26	20	13	12	3	106
18,064	at Warriors		48	83	0.578	10	33	0.303	20	24	0.833	13	36	49	38	14	8	18	2	126
12/26	Trail Blazers	W	49	98	0.500	16	40	0.400	16	20	0.800	16	30	46	28	17	5	10	5	130
18,585	vs. Kings		45	93	0.484	10	42	0.238	13	16	0.813	11	29	40	25	16	5	12	7	113
12/28	Trail Blazers	L	35	101	0.347	11	36	0.306	24	32	0.750	22	35	57	16	22	6	13	4	105
19,335	vs. Spurs		41	85	0.482	10	36	0.278	26	28	0.929	7	35	42	33	20	9	11	10	118
12/29	Trail Blazers	W	48	95	0.505	16	27	0.593	22	27	0.815	16	27	43	28	19	8	14	6	134
18,861	vs. Spurs	l .	48	94	0.511	14	33	0.424	18	25	0.720	13	29	42	31	19	9	14	3	128
1/1	Trail Blazers	L	33	80	0.413	8	30	0.267	14	19	0.737	6	30	36	21	19	6	19	10	88
17,071	at Suns		38	80	0.475	11 13	29	0.379	22	33	0.667	9	38	47 46	24 23	20	10	16	5	109
1/3	Trail Blazers	L	34	87	0.391 0.500		40 30	0.325 0.433	16 29	22	0.727	10 7	36			34 18	4	22	3 7	97 126
20,077	at Mavericks	L	39	84 95	0.500	13 13	40	0.433	12	41	0.707	10	36	43	25 27	18	12	12 19	3	126
20,162	Trail Blazers at Mavericks	L	56	95	0.411	13	38	0.325	12	17	0.708	10	42	42 52	35	21	9	19	8	103
1/7	Trail Blazers	W	45	95	0.383	20	38	0.447	24	30	0.800	9	29	38	21	20	5	17	5	139
17,732	at Nets		45	91	0.474	14	38	0.326	24	25	0.800	9	35	44	21	20	7	16	7	134
1/9	Trail Blazers	L	33	86	0.384	6	29	0.207	12	18	0.667	12	31	43	19	17	8	15	7	84
19,812	at Knicks		37	89	0.416	18	48	0.375	20	23	0.870	15	40	55	26	16	11	15	4	112
1/11	Trail Blazers	L	28	101	0.277	11	49	0.224	10	16	0.625	13	29	42	16	19	8	10	8	77
15,828	at Thunder		53	93	0.570	14	35	0.400	19	22	0.864	8	51	59	41	10	6	13	8	139
1/12	Trail Blazers	L	30	77	0.390	10	28	0.357	23	34	0.676	10	28	38	18	19	8	20	5	93
18,024	at Timberwolves		44	80	0.550	11	31	0.355	17	24	0.708	8	37	45	35	23	14	16	5	116
1/14	Trail Blazers	L	40	89	0.449	20	42	0.476	16	22	0.727	12	24	36	23	21	8	14	1	116
18,071	vs. Suns		46	76	0.605	13	28	0.464	22	27	0.815	7	34	41	27	20	7	14	5	127
1/17	Trail Blazers	W	42	86	0.488	9	27	0.333	12	14	0.857	10	31	41	21	16	2	13	2	105
17,021	vs. Nets		35	73	0.479	15	38	0.395	18	27	0.667	6	27	33	28	14	9	11	3	103
1/19	Trail Blazers	W	42	84	0.500	4	12	0.333	30	35	0.857	9	38	47	18	21	3	11	11	118
18,595	vs. Pacers		39	91	0.429	20	47	0.426	17	25	0.680	6	31	37	34	26	3	14	6	115
_			-					_			-		-						_	



2023-24 GAME-BY-GAME STATS



DATE	GAME	111.0	50	504	DOT	250	0504	DOT		ET A	DOT	0.0	DD	DED	ACT	DE	CT.	70	DC	DTC
		W/L	FG	FGA	PCT 0.467	3FG	3FGA	PCT	FT 17	FTA 20	PCT	0R 10	DR	REB	AST	PF 21	ST 7	T0 14	BS	PTS
1/21	Trail Blazers	L	42	90	0.467	9	29	0.310	17	20	0.850	10	25	35	24	21	1	14	5	110
18,997	at Lakers		47	86	0.547	13	33	0.394	27	29	0.931	10	35	45	28	18	9	14	6	134
1/23	Trail Blazers	L	37	86	0.430	18	39	0.462	17	21	0.810	12	34	46	27	19	6	19	6	109
15,874	at Thunder		43	89	0.483	7	23	0.304	18	28	0.643	10	33	43	23	18	9	12	10	111
1/24	Trail Blazers	W	50	98	0.510	15	35	0.429	22	24	0.917	13	35	48	31	18	6	12	4	137
18,055	at Rockets		50	94	0.532	12	36	0.333	19	22	0.864	8	29	37	29	19	8	8	6	131
1/26	Trail Blazers	L	38	90	0.422	10	37	0.270	14	19	0.737	8	29	37	23	20	11	15	3	100
17,274	at Spurs		42	92	0.457	10	34	0.294	22	26	0.846	17	42	59	30	11	12	18	5	116
1/28	Trail Blazers	L	32	79	0.405	6	33	0.182	26	29	0.897	7	41	48	22	21	2	14	5	96
17,899	vs. Bulls	-	42	90	0.467	8	32	0.250	12	17	0.706	5	35	40	27	19	7	5	10	104
1/29	Trail Blazers	w	46	84	0.548	12	28	0.429	26	29	0.897	11	28	39	29	24	7	13	5	130
		VV	37	83	0.348	5	20	0.429	20	29	0.897	11	20	39	17	24	6	13	5	104
17,128	vs. 76ers	14/																		
1/31	Trail Blazers	W	49	92	0.533	12	28	0.429	9	9	1.000	9	30	39	26	20	9	11	1	119
19,335	vs. Bucks		45	92	0.489	13	45	0.289	13	18	0.722	10	29	39	27	17	7	13	5	116
2/2	Trail Blazers	L	37	80	0.463	10	28	0.357	24	30	0.800	13	24	37	14	16	7	10	4	108
19,622	at Nuggets		46	91	0.505	12	36	0.333	16	17	0.941	16	32	48	34	20	3	12	6	120
2/4	Trail Blazers	L	39	85	0.459	11	31	0.355	14	15	0.933	15	27	42	29	16	6	13	3	103
19,715	at Nuggets		42	86	0.488	12	28	0.429	16	19	0.842	14	28	42	26	11	8	9	6	112
2/8	Trail Blazers	L	41	89	0.461	11	30	0.367	29	33	0.879	11	27	38	29	27	9	17	7	122
18,125	vs. Pistons		45	93	0.484	16	27	0.593	22	31	0.710	16	29	45	26	23	3	17	7	128
2/10	Trail Blazers	L	33	76	0.434	6	21	0.286	12	17	0.706	11	31	42	19	14	7	18	4	84
18,226	vs. Pelicans	-	36	76	0.474	10	27	0.370	11	16	0.688	8	28	36	27	14	9	12	6	93
2/13	Trail Blazers	L	39	87	0.474	10	29	0.379	20	25	0.800	12	32	44	26	29	5	12	1	109
		L	39	84	0.448			0.379	30		0.800			44	20	1	8		9	103
17,906	vs. Timberwolves	,				13	33			34		12	29			18		12		
2/15	Trail Blazers	L	31	83	0.373	8	29	0.276	21	30	0.700	9	26	35	18	23	8	15	5	91
18,606	vs. Timberwolves		46	89	0.517	11	30	0.367	25	27	0.926	11	41	52	24	22	8	14	5	128
2/23	Trail Blazers	L	46	101	0.455	8	25	0.320	12	18	0.667	19	26	45	25	17	11	11	2	112
18,898	vs. Nuggets		50	85	0.588	13	33	0.394	14	22	0.636	11	34	45	38	17	8	13	6	127
2/25	Trail Blazers	L	33	95	0.347	3	32	0.094	11	16	0.688	22	34	56	14	16	11	16	4	80
17,888	vs. Hornets		37	75	0.493	7	24	0.292	12	17	0.706	4	37	41	24	12	12	19	6	93
2/27	Trail Blazers	L	35	86	0.407	10	31	0.323	16	19	0.842	15	25	40	24	25	9	18	4	96
18,143	vs. Heat	_	37	70	0.529	14	26	0.538	18	26	0.692	6	28	34	29	19	8	20	8	106
3/1	Trail Blazers	W	48	92	0.522	13	31	0.419	13	16	0.813	16	30	46	31	20	13	14	8	122
		ŶŶ	35	79	0.322	9	24	0.415	13	22	0.591	8	22	30	15	17	6	23	8	92
15,493	at Grizzlies	14/																		
3/2	Trail Blazers	W	39	92	0.424	11	35	0.314	18	24	0.750	13	37	50	23	25	8	23	5	107
16,381	at Grizzlies		30	83	0.361	15	40	0.375	25	33	0.758	9	36	45	21	17	15	24	9	100
3/4	Trail Blazers	L	45	92	0.489	16	39	0.410	8	11	0.727	12	29	41	28	26	5	14	3	114
18,024	at Timberwolves		40	79	0.506	11	28	0.393	28	37	0.757	12	28	40	28	17	9	11	7	119
3/6	Trail Blazers	L	41	81	0.506	14	34	0.412	24	27	0.889	7	25	32	27	28	10	17	2	120
17,589	vs. Thunder		43	74	0.581	9	22	0.409	33	39	0.846	7	32	39	23	18	10	18	5	128
3/8	Trail Blazers	L	37	89	0.416	16	35	0.457	17	25	0.680	19	30	49	22	16	5	17	5	107
18,139	vs. Rockets	-	45	94	0.479	14	37	0.378	19	26	0.731	14	33	47	33	15	12	7	10	123
3/9	Trail Blazers	W	49	103	0.476	16	40	0.400	14	15	0.933	14	34	52	31	18	10	15	3	128
		ŶŶ	43	91	0.470	16	40	0.400	14	19	0.333	9	34	43	29	18	9	20	6	128
18,117	vs. Raptors																			
3/11	Trail Blazers	L	39	87	0.448	10	28	0.357	11	11	1.000	9	29	38	23	11	3	11	5	99
18,480	vs. Celtics		49	100	0.490	15	40	0.375	8	12	0.667	14	31	45	34	11	7	3	10	121
3/13	Trail Blazers	W	38	82	0.463	10	30	0.333	20	24	0.833	12	37	49	24	21	7	18	5	106
18,064	vs. Hawks		38	88	0.432	14	39	0.359	12	18	0.667	13	25	38	19	23	11	15	6	102
3/14	Trail Blazers	L	34	84	0.405	11	33	0.333	14	16	0.875	13	32	45	19	19	10	18	2	93
17,768	vs. Knicks		38	87	0.437	6	29	0.207	23	26	0.885	15	35	50	16	18	11	15	1	105
3/16	Trail Blazers	L	42	84	0.500	12	33	0.364	11	12	0.917	10	26	36	23	15	3	20	7	107
17,725	at Pelicans	_	52	97	0.536	13	33	0.394	9	10	0.900	10	29	39	36	13	8	10	5	126
3/18	Trail Blazers	L	40	88	0.455	8	28	0.286	19	25	0.760	13	30	43	21	24	7	13	5	107
		L	40	93	0.435	° 11	33	0.280	15	23	0.780	13	27	43	21	24	9	9	5	1107
20,293	at Bulls	,															-	-	-	
3/20	Trail Blazers	L	39	81	0.481	15	34	0.441	10	15	0.667	8	30	38	21	16	6	17	4	103
17,504	vs. Clippers		45	86	0.523	13	31	0.419	13	15	0.867	8	34	42	29	13	15	12	7	116
3/22	Trail Blazers	L	45	93	0.484	12	33	0.364	15	25	0.600	15	26	41	29	19	11	10	1	117
18,660	vs. Clippers		44	77	0.571	14	33	0.424	23	27	0.852	7	33	40	26	21	8	17	8	125
3/23	Trail Blazers	L	43	93	0.462	10	28	0.357	15	17	0.882	14	31	45	27	24	8	16	8	111
18,629	vs. Nuggets		41	91	0.451	8	24	0.333	24	33	0.727	19	30	49	25	17	8	14	9	114
3/25	Trail Blazers	L	36	87	0.414	7	33	0.212	13	15	0.867	10	34	44	14	25	5	17	6	92
16,537	at Rockets		37	93	0.398	12	39	0.308	24	25	0.960	13	32	45	19	16	7	9	7	110
3/27	Trail Blazers	L	43	85	0.506	14	31	0.452	6	10	0.600	6	27	33	35	18	8	19	2	106
16,059	at Hawks	_	40	85	0.518	16	41	0.390	16	20	0.800	8	33	41	23	17	12	17	9	120
3/29	Trail Blazers	L	35	87	0.402	5	30	0.167	7	11	0.636	10	33	43	20	19	4	24	2	82
		L	54	92	0.402	21	30	0.167	13	11	0.636	6	33	43 44			4	24 9		142
19,839	at Heat	-													41	13			4	
4/1	Trail Blazers	L	40	90	0.444	11	31	0.355	12	15	0.800	11	33	44	28	21	9	11	3	103
19,004	at Magic		36	76	0.474	11	32	0.344	21	27	0.778	9	34	43	26	17	4	16	6	104
4/3	Trail Blazers	W	37	93	0.398	7	26	0.269	8	12	0.667	14	41	55	19	19	4	16	2	89
14,209	at Hornets		32	78	0.410	5	31	0.161	17	22	0.773	2	34	36	22	15	10	11	8	86
4/5	Trail Blazers	W	41	94	0.436	9	29	0.310	17	24	0.708	16	39	55	29	23	7	13	5	108
18,079	at Wizards		38	88	0.432	5	33	0.152	21	30	0.700	12	33	45	24	21	9	10	5	102
4/7	Trail Blazers	L	40	102	0.392	14	38	0.368	13	13	1.000	22	31	53	26	12	8	15	2	102
111	at Celtics		40	87	0.563	14	38	0.421	10	13	0.769	5	35	40	34	12	11	13	8	124
4/0		L	49	85	0.565	10	38	0.421	7		0.769	13	35	40	28	12	3	22		124
4/9	Trail Blazers	L								8									3	
18,341	vs. Pelicans		36	87	0.414	11	36	0.306	27	29	0.931	13	32	45	25	9	13	9	2	110
4/11	Trail Blazers	L	35	97	0.361	8	34	0.235	14	17	0.824	20	29	49	22	18	9	13	3	92
19,335	vs. Warriors		36	77	0.468	12	35	0.343	16	20	0.800	10	36	46	24	18	8	16	13	100
4/12	Trail Blazers	L	37	95	0.389	12	35	0.343	21	29	0.724	16	32	48	20	14	4	7	5	107
18,630	vs. Rockets		44	92	0.478	11	39	0.282	17	20	0.850	10	38	48	25	20	3	9	5	116
	TOTALS	81	3,196	7,258	0.440	932	2,678	0.348	1,316	1,663	0.791	1,013	2,438	3,451	1,876	1,635	616	1,231	352	8,640
	OPPONENTS	81	3,442	7,017	0.491	944	2,696	0.350	1,513	1,911	0.792	855	2,688	3,543	2,196	1,448	718	1,159	522	9,341
			.,	,			,		,	,			,	.,	,	,		,		



2023-24 TRAIL BLAZERS MISCELLANEOUS



7

8

1

---4

---1

7

9

19

8

3

---1

1

1

4

19 1

TRAIL BLAZERS RECORD WHEN	OVERALL 15-22	HOME	ROAD 9-5
Outrebounding opponent		6-17	
Outrebounded by opponent	6-36	5-12	1-24
Tied in Rebounding	0-2	0-1	0-1
Shooting better than opponent	15-8	9-3	6-5
Shooting worse than opponent	6-52	2-27	4-25
Shooting same than opponent	0-0	0-0	0-0
Shooting same than opponent	00	0 0	00
More FTM than opponent	12-15	7-7	5-8
Less FTM than opponent	8-41	4-21	4-20
Same FTM than opponent	1-4	0-2	1-2
More 3FGM than opponent	13-22	5-14	8-8
Less 3FGM than opponent	7-33	5-14	2-19
Same 3FGM than opponent	1-5	1-2	0-3
More assists than opponent	11-16	5-9	6-7
Less assists than opponent	9-43	5-21	4-22
Same assists than opponent	1-1	1-0	0-1
Mars turneyers then encount	7-32	2-15	5-17
More turnovers than opponent	12-19	2-1J 8-11	4-8
Less turnovers than opponent	2-9	1-4	4-0 1-5
Same turnovers than opponent	2-9	1-4	1-5
Bench outscores opponent bench	13-25	6-12	7-13
Opponent bench outscores POR	8-34	5-18	3-16
Bench scoring equal	0-1	0-0	0-1
Scoring less than 80 points	0-1	0-0	0-1
Scoring between 80-89 points	1-5	0-2	1-3
Scoring between 90-99 points	1-15	0-10	1-5
Scoring between 100-109	6-18	3-5	3-13
Scoring 110 or more points	13-18	8-11	5-7
v			
Opponent scores less than 80	0-0	0-0	0-0
Opponent scores between 80-89	1-0	0-0	1-0
Opponent scores between 90-99	3-2	0-2	3-0
Opponent scores between 100-109	8-10	5-7	3-3
Opponent scores 110 or more	9-48	6-21	3-27

NUMBER OF TIMES RECORDING	POINTS			REB	AST	BLK	STL		
NOMBER OF TIMES RECORDING	10+	20+	30+	10+	10+	3+	31	DD	TD
Deandre Ayton	43	22	5	35		1	6	32	
Ibou Badji						2			
Dalano Banton	25	9	2	2			3	2	
Jamaree Bouyea									
Malcolm Brogdon	29	11	1		4		2	4	
Moses Brown				2					
Toumani Camara	23			4			5	2	
Jerami Grant	50	31	7	1		2	4	1	
Ashton Hagans	2					1	1		
Scoot Henderson	47	11	3		8		2	8	
Skylar Mays	6				3			2	
Justin Minaya									
Taze Moore									
Kris Murray	18	1		1			4	1	
Duop Reath	31	3		1		2		1	
Rayan Rupert	3								
Shaedon Sharpe	25	10		1			1	1	
Anfernee Simons	41	29	11		3		1	3	
Matisse Thybulle	11					2	18		
lsh Wainright									
Jabari Walker	28	1		16			2	11	
Robert Williams III	1			1		1	1		
NUMBER OF TIMES LEADING TEAM IN (IN	ICLUDES TI	ES)							
		TS	REB	AST		LK	STL	Ν	MIN
Deandre Ayton	1	.0	41			22	14		4
Ibou Badji	-	-	1	1		9	1		
Dalano Banton		7	3	6		9	7		5
Jamaree Bouyea	-	-							
Malcolm Brogdon	!	5	3	18		5	6		5
Moses Brown	-	-	2			3			
Toumani Camara		-	7	2	-	3	13		3
Jerami Grant	2	6	2	7		.5	10		22
Ashton Hagans	-	-		3		4	3		
Scoot Henderson	9	9	1	27		6	12		8
Skylar Mays	-	-	1	5		1	2		
Institu Minana						7	2		

-----1 ---6 19 ---2

--

1 3

1

2

2 1

1

24

--

TARTING LINEUPS							
AST USED	GAME	FORWARD	FORWARD	CENTER	GUARD	GUARD	RECORD
0/25	at Clippers	Thybulle	Grant	Ayton	Simons	Henderson	0-1
1/1	at Pistons	Thybulle	Grant	Avton	Sharpe	Henderson	2-2
1/8	at Kings at Lakers	Thybulle	Grant	Ayton	Sharpe	Brogdon	1-2
1/12	at Lakers	Thybulle	Grant	Ayton	Sharpe	Mavs	0-1
1/19	vs. Thunder	Camara	Grant	Ayton	Sharpe	Mays	0-4
1/22	vs. Jazz	Çamara	Grant	Reath	Sharpe	Brogdon	1-0 2-3
2/2	at Jazz	Camara	Grant	Ayton	Sharpe	Brogdon	2-3
2/6	at Warriors	Sharpe	Camara	Reath	Simons	Brogdon	0-1 0-2
2/11	at Clippers	Thybulle	Camara	Reath	Sharpe	Simons	0-2
2/14	vs. Jażż	Thýbulle	Camara	Ayton	Sharpe	Simons	0-1
2/19	vs. Suns	Camara	Grant	Ayton	Sharpe	Simons	1-2 0-2
2/23 2/26	at Warriors	Camara	Grant	Ayton	Simons	Brogdon	0-2 1-0
2/26	vs. Kings	Camara	Grant	Brown	Simons	Broğdon Henderson	
/1	vs. Spurs at Suns	Camara Thybulle	Grant Grant	Brown Brown	Brogdon	Henderson	1-1 0-1
/3	at Mavericks	Grant	Camara		Brogdon Simons	Henderson	0-1
/12	at Mavencks at Timberwolves	Camara	Grant	Badji Reath	Henderson	Simons	1-4
/12 /14	vs. Suns	Camara	Walker	Reath	Henderson	Simons	0-1
/17	vs. Nets	Grant	Walker	Reath	Simons	Brogdon	1-0
/19	vs. Pacers	Grant	Walker	Ayton	Thybulle	Brogdon	1-0
/26	at Spure	Grant	Walker	Avton	Thybulle	Simons	0_1
/31	at Spurs vs. Bucks	Grant	Walker	Ayton	Simons	Brogdon	0-1 3-3
12	at Nuggets	Camara	Walker	Ayton	Simons	Brogdon	0-1
/4 /8	at Nuggets at Nuggets vs. Pistons vs. Pelicans	Murray	Walker	Ayton	Thybulle Thybulle Thybulle Thybulle	Simons	0-1
/8	vs. Pistons	Camara	Grant	Walker	Thybulle	Simons	0-1
/10	vs. Pelicans	Grant	Walker	Ayton	Thybulle	Hagans	0-1
/13	vs. Timberwolves	Grant	Camara	Ayton	Thybulle	Simons	0-1
/15	vs. Timberwolves	Camara	Grant	Ayton	Simons	Henderson	0-1
27	vs. Heat at Grizzlies	Çamara	Grant	Ayton	Murray	Simons	0-3
/2	at Grizzlies	Camara	Grant	Reath	Murray	Simons	2-0
4	at Timberwolves	Banton	Walker	Reath	Murray	Simons	0-1
6	vs. Thunder vs. Rockets	Murray	Grant	Reath	Banton	Simons	0-1
8	vs. Rockets	Murray	Camara	Reath	Banton	Simons	0-1
/11 /14	vs. Celtics vs. Knicks	Murray	Grant	Ayton	Simons	Henderson	0-1 0-1
14	vs. Knicks	Murray	Camara	Ayton	Banton	Henderson	U-1
/16	at Pelicans	Murraý	Camara	Ayton	Simons	Banton	2-1
/20	vs. Clippers	Murray	Camara	Ayton	Simons	Henderson	0-2 0-1
/22 /27	vs. Clippers	Murray	Camara	Reath	Simons	Henderson	0-3
/12	at Hawks vs. Rockets	Murray	Camara Walker	Reath	Rupert	Henderson Henderson	0-3 2-6
/12	VS. NUCKELS	Murray	wainer	Ayton	Rupert	nenuerson	2-0

Skylar Mays Justin Minaya Taze Moore

Kris Murray

Duop Reath Rayan Rupert

Shaedon Sharpe

Anfernee Simons Matisse Thybulle Ish Wainright

Jabari Walker

Robert Williams III

5

2023-24 TRAIL BLAZERS MISCELLANEOUS



TEAM MISCELLANEOUS BREAKDOWN

TEAM RECORD				
	RECORD	HOME	ROAD	OT
OVERALL	21-60	11-30	10-30	5-3
ATLANTIC	5-5	3-2	2-3	2-0
CENTRAL	5-5	2-3	3-2	0-1
SOUTHEAST	3-7	1-4	2-3	
EASTERN	13-17	6-9	7-8	2-1
SOUTHWEST	5-13	2-8	3-5	3-0
NORTHWEST	1-15	1-7	0-8	0-1
PACIFIC	2-15	2-6	0-9	0-1
WESTERN	8-43	5-21	3-22	3-2

TEAM WIN	NNING & LOSING STREAKS			
LONG:	OVERALL	HOME	ROAD	
Win	10/30/2023 — 11/3/2023 (3)	1/29/2024 — 1/31/2024 (2)	4/3/2024 — 4/5/2024 (2)	
Loss	3/14/2024 — 4/1/2024 (10)	2/8/2024 — 3/8/2024 (9)	3/4/2024 — 4/1/2024 (7)	

*showing most recent streaks

AFTER 81 GAMES: W21	, L60																								
MARGIN	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25
Won By:		2	3	2	1	3	2	2	1	1						1	1								
Lost By:	2	1	3	2	4	3		5	3	2	2	6	5	2	1	3	1	1	1	1	1	1	1	1	

MARGIN	26	27	28	29	30	31	32	33	34	35	36	37	38	39	40	41	42	43	44	45	46	47	48	49	50+
Won By:	1				1																				
Lost By:			2	1							1	1						1							2

AT START OF:	OVERALL	HOME	ROAD	FG%:	OVERALL	HOME	ROAD
2nd-Ahead:	8-17	5-8	3-9	-44%	4-34	1-17	3-17
-Behind:	12-43	5-22	7-21	45-49%	8-20	4-11	4-9
-Tied:	1-0	1-0	0-0	50-54%	8-6	5-2	3-4
3rd-Ahead:	12-11	8-4	4-7	55-59%	1-0	1-0	0-0
-Behind:	9-49	3-26	6-23	+60%	0-0	0-0	0-0
-Tied:	0-0	0-0	0-0				
4th-Ahead:	14-4	9-2	5-2				
-Behind:	6-56	2-28	4-28				
-Tied:	1-0	0-0	1-0				



2023-24 TRAIL BLAZERS SUPERLATIVES



OPPONENTS

		PURILAND IRAIL BLAZERS		UPPUNENIS
Points	49	Jerami Grant vs. DET 02/08/2024	45	Jalen Brunson vs. NYK 03/14/2024
Points in a Quarter	22	Anfernee Simons (4th) vs. WAS 12/21/2023	22	Luka Doncic (1st) vs. DAL 12/16/2023
Points in a Half	29	Anfernee Simons (2nd) vs. WAS 12/21/2023	30	Luka Doncic (1st) vs. DAL 12/16/2023
Field Goals	15	Deandre Ayton vs. NOP 04/09/2024	16	Anthony Edwards vs. MIN 02/13/2024
	15	Deandre Avton vs. ATL 03/13/2024	16	De'Aaron Fox vs. SAC 12/26/2023
	15	Anfernee Simons vs. WAS 12/21/2023	16	Kevin Durant vs. PHX 12/19/2023
Field Goal Attempts	31	Scoot Henderson vs. PHX 01/14/2024	30	Jalen Brunson vs. NYK 03/14/2024
Field Goal Percentage	1.000	Toumani Camara (5-5) vs. MIN 02/15/2024	1.000	Nic Claxton (8-8) at BKN 01/07/2024
			1.000	Moritz Wagner (8-8) vs. ORL 10/27/2023
3-PT Field Goal	7	Anfernee Simons at SAS 01/26/2024	7	Jaden Ivey vs. DET 02/08/2024
	7	Anfernee Simons at GSW 12/23/2023	7	De'Aaron Fox vs. SAC 12/26/2023
	7	Anfernee Simons vs. WAS 12/21/2023		
3-PT FG Attempts	15	Anfernee Simons at SAS 01/26/2024	16	Stephen Curry vs. GSW 04/11/2024
3-PT FG Percentage	1.000	Rayan Rupert (3-3) at MIN 03/04/2024	1.000	Jaden Ivey (7-7) vs. DET 02/08/2024
	1.000	Rayan Rupert (3-3) vs. PHX 01/14/2024		
	1.000	Toumani Camara (3-3) vs. GSW 12/17/2023		
	1.000	Jerami Grant (3-3) at IND 11/27/2023		N// 00// / 0000
Free Throws	18	Jerami Grant vs. DET 02/08/2024	15	Jalen Brunson vs. NYK 03/14/2024
		L	15	Malik Monk at SAC 11/08/2023
Free Throw Attempts	20	Jerami Grant vs. DET 02/08/2024	19	Malik Monk at SAC 11/08/2023
Free Throw Percentage	1.000	Anfernee Simons (13-13) at LAC 12/11/2023	1.000 1.000	Victor Wembanyama (10-10) vs. SAS 12/28/2023 Devin Booker (10-10) at PHX 11/21/2023
			1.000	Tyrese Maxey (10-10) at PHI 10/29/2023
Offensive Rebounds	10	Deandre Ayton vs. WAS 12/21/2023	1.000	Aaron Gordon vs. DEN 03/23/2024
	10	Dealigie Ayloli VS. WAS 12/21/2025	8	Jalen Duren vs. DET 02/08/2024
			8	Keldon Johnson at SAS 01/26/2024
Defensive Rebounds	19	Jabari Walker at CHA 04/03/2024	15	Nikola Jokic at DEN 02/02/2024
Total Rebounds	23	Deandre Avton at TOR 10/30/2023	22	Jalen Duren vs. DET 02/08/2024
	20	2001101011Jton 01 101 101 2020	22	Nikola Jokic at DEN 02/02/2024
Assists	15	Scoot Henderson vs. NOP 04/09/2024	17	Tyrese Haliburton vs. IND 01/19/2024
Steals	6	Matisse Thybulle vs. CHA 02/25/2024	5	Shai Gilgeous-Alexander at OKC 01/23/2024
Blocks	3	Matisse Thybulle vs. BOS 03/11/2024	7	Victor Wembanyama vs. SAS 12/28/2023
	3	Duop Reath at MEM 03/02/2024	7	Walker Kessler vs. UTA 12/14/2023
	3	Ashton Hagans at MEM 03/01/2024		
	3	Deandre Ayton vs. NOP 02/10/2024		
	3	Ibou Badji at OKC 01/11/2024		
	3	Duop Reath at BKN 01/07/2024		
	3	Ibou Badji vs. SAS 12/28/2023		
	3	Matisse Thybulle vs. WAS 12/21/2023		
	3	Jerami Grant at IND 11/27/2023		
Minutes	3	Jerami Grant at SAC 11/08/2023	10 05	Indep 1/0/ //0. DET 02/09/2024
Points in Paint	46:26 26	Shaedon Sharpe vs. MEM 11/03/2023	48:05 28	Jaden Ivey vs. DET 02/08/2024 Domantas Sabonis vs. SAC 12/26/2023
Second Chance Points	20 13	Deandre Ayton vs. ATL 03/13/2024 Deandre Ayton vs. WAS 12/21/2023	28 12	Jalen Duren vs. DET 02/08/2024
Fast Break Points	13	Deanure Aylon vs. WAS 12/21/2023 Dalano Banton vs. LAC 03/22/2024	12	LeBron James at LAL 01/21/2024
I AST DI CAN I UIIILS	14	Darano Daritori VS. LAO US/22/2024	15	LEDION JUNES OF THE 01/21/2024

PORTIAND TRAIL BLAZERS

TRAIL BLAZERS HIGHS

137 at HOU 01/24/2024 39 vs. DAL 12/16/2023 42 vs. SAS 12/29/2023 71 (2) vs. SAS 12/29/2023 41 at HOU 01/24/2024 38 (2) vs. UTA 12/14/2023 72 vs. PH 101/29/2024

50 at HOU 01/24/2024 105 vs. DAL 12/08/2023 .548 vs. PHI 01/29/2024

20 (2) vs. PHX 01/14/2024 53 vs. DAL 12/08/2023 .593 vs. SAS 12/29/2023

30 vs. IND 01/19/2024 36 vs. MEM 11/03/2023 1.000 (4) at BOS 04/07/2024

22 (3) at BOS 04/07/2024 41 (2) at CHA 04/03/2024 57 vs. SAS 12/28/2023

35 at ATL 03/27/2024 15 at MIL 11/26/2023 29 at DAL 01/03/2024 34 at DAL 01/03/2024 23 at MIA 03/29/2024 11 vs. IND 01/19/2024

72 vs. DAL 12/16/2023 32 (2) vs. WAS 12/21/2023 30 vs. GSW 12/17/2023 33 at MEM 03/01/2024 69 at MEM 03/01/2024 31 vs. UTA 11/22/2023 77 at OKC 01/11/2024 14 (2) vs. MIN 02/15/2024 15 (2) at CHA 04/03/2024 34 vs. CHA 02/25/2024 14 (2) at MEM 03/02/2024 13 at UTA 11/14/2023 34 at MIL 11/26/2023

TRAIL BLAZERS LOWS

28 at OKC 01/11/2024 76 vs. NOP 02/10/2024 .277 at OKC 01/11/2024

3 vs. CHA 02/25/2024 12 vs. IND 01/19/2024 .094 vs. CHA 02/25/2024

6 at ATL 03/27/2024 8 vs. NOP 04/09/2024 .600 (2) at ATL 03/27/2024

5 at LAL 11/12/2023 18 (2) at PHX 11/21/2023 30 (3) at GSW 12/23/2023

14 (3) at HOU 03/25/2024 2 (3) vs. CHI 01/28/2024 10 vs. BOS 03/11/2024 11 vs. BOS 03/11/2024 7 (2) vs. HOU 04/12/2024 1 (6) vs. LAC 03/22/2024

30 (2) at OKC 01/11/2024 6 at PHX 01/01/2024 2 (2) vs. MIA 02/27/2024 0 (11) vs. 0KC 03/06/2024 12 vs. LAL 11/17/2023 4 (2) at CHA 04/03/2024 Points Points/1st Qtr. Points/2nd Qtr. Points/1st Half Points/3rd Qtr. Points/4th Qtr. Points/2nd Half

CATEGORY

Field Goals Field Goal Attempts Field Goal Percentage

3-PT Field Goal 3-PT FG Attempts 3-PT FG Percentage

Free Throws Free Throw Attempts Free Throw Percentage

Offensive Rebounds Defensive Rebounds Total Rebounds

> Assists Steals Team Fouls Personal Fouls Turnovers Blocks

Points in Paint Second Chance Points Fast Break Points Biggest Lead Bench Points Points Off Turnovers 142 at MIA 03/29/2024 44 vs. MIN 02/15/2024 45 at MIA 03/29/2024 78 at DAL 01/03/2024 43 at 0KC 01/11/2024 37 (3) vs. MIN 02/13/2024 77 at DAL 01/05/2024

OPPONENTS HIGHS

56 at DAL 01/05/2024 100 vs. BOS 03/11/2024 .605 vs. PHX 01/14/2024

22 vs. OKC 11/19/2023 48 at NYK 01/09/2024 .611 vs. OKC 11/19/2023

35 at PHI 10/29/2023 41 at DAL 01/03/2024 1.000 (2) at CLE 11/30/2023

19 vs. DEN 03/23/2024 51 at OKC 01/11/2024 59 (2) at SAS 01/26/2024

41 (2) at MIA 03/29/2024 17 at MIA 03/29/2024 26 at DET 11/01/2023 31 at DET 11/01/2023 22 at MEM 03/02/2024 17 at PHI 10/29/2023

72 vs. UTA 12/14/2023 26 (2) at NYK 01/09/2024 37 vs. HOU 03/08/2024 62 at OKC 01/11/2024 70 vs. OKC 11/19/2023 36 at MIA 03/29/2024
 Jalen Duren Vs. DEI 02/08/2024

 LeBron James at LAL 01/21/2024

 OPPONENTS LOWS

 86 at CHA 04/03/2024

 15 vs. MIA 02/27/2024

 18 vs. NOP 02/10/2024

 44 at CHA 04/03/2024

 17 vs. NOP 02/10/2024

 15 at NYK 01/09/2024

39 vs. ORL 10/27/2023 30 at MEM 03/02/2024 70 vs. MIA 02/27/2024 .361 at MEM 03/02/2024

4 (2) at LAL 11/12/2023 17 at PHX 11/21/2023 .138 at TOR 10/30/2023

8 vs. BOS 03/11/2024 10 at NOP 03/16/2024 .591 at MEM 03/01/2024

2 at CHA 04/03/2024 21 at CLE 11/30/2023 30 at MEM 03/01/2024

15 at MEM 03/01/2024 3 (4) vs. HOU 04/12/2024 8 (2) vs. NOP 04/09/2024 9 vs. NOP 04/09/2024 3 vs. BOS 03/11/2024 1 vs. NYK 03/14/2024

26 vs. IND 01/19/2024 4 vs. CHA 02/25/2024 7 (3) at MIN 03/04/2024 0 vs. UTA 11/22/2023 10 vs. NOP 04/09/2024 9 (5) vs. HOU 04/12/2024







BY TRAIL BLAZERS		BY OPPONENT
	AN INDIVIDUAL	
30 PTS, Scoot Henderson: (POR L, 107-116) vs. Houston, 04/12/24	Scored 30+ points	31 PTS, Trey Murphy III: (POR L, 100-110) vs. New Orleans, 04/09/24
49 PTS, Jerami Grant: (POR L, 122-128 (OT)) vs. Detroit, 02/08/24	Scored 40+ points	45 PTS, Jalen Brunson: (POR L, 93-105) vs. New York, 03/14/24
71 PTS, Damian Lillard: (POR W, 131-114) vs. Houston, 02/26/23	Scored 50+ points	56 PTS, Trae Young: (POR W, 136-131) vs. Atlanta, 01/03/22
16 REB, Jabari Walker: (POR L, 92-100) vs. Golden State, 04/11/24	Had 15+ Rebounds	15 REB, Amen Thompson: (POR L, 107-116) vs. Houston, 04/12/24
22 REB, Jabari Walker: (POR W, 89-86) @ Charlotte, 04/03/24	Had 20+ Rebounds	22 REB, Jalen Duren: (POR L, 122-128 (OT)) vs. Detroit, 02/08/24
30 REB, Enes Kanter: (POR W, 118-103) vs. Detroit, 04/10/21	Had 25+ Rebounds	27 REB, Andre Drummond: (POR L, 103-120) vs. Detroit, 11/08/15
15 AST, Scoot Henderson: (POR L, 100-110) vs. New Orleans, 04/09/24	Had 15+ assists	17 AST, Tyrese Haliburton: (POR W, 118-115) vs. Indiana, 01/19/24
* Never Has Happened *	Had 20+ assists	* Never Has Happened *
5 BLK, Drew Eubanks: (POR L, 127-129) @ San Antonio, 04/06/23	Had 5+ Blocks	5 BLK, Kristaps Porzingis: (POR L, 107-124) @ Boston, 04/07/24
10 BLK, Hassan Whiteside: (POR W, 107-103) vs. Chicago, 11/29/19	Had 10+ Blocks	13 BLK, Shawn Bradley: (POR W, 99-91) @ Dallas, 04/07/98
6 STL, Matisse Thybulle: (POR L, 80-93) vs. Charlotte, 02/25/24	Had 5+ Steals	5 STL, Shai Gilgeous-Alexander: (POR L, 109-111) @ Oklahoma City, 01/23/24
10 FGM, Scoot Henderson: (POR L, 107-116) vs. Houston, 04/12/24	Made 10+ Field Goals	10 FGM, Jalen Green: (POR L, 107-116) vs. Houston, 04/12/24
15 FGM, Deandre Ayton: (POR L, 100-110) vs. New Orleans, 04/09/24	Made 15+ Field Goals	15 FGM, Dejounte Murray: (POR W, 106-102) vs. Atlanta, 03/13/24
22 FGM, Damian Lillard: (POR W, 131-114) vs. Houston, 02/26/23	Made 20+ Field Goals	20 FGM, Julius Randle: (POR W, 122-110) @ New Orleans, 03/15/19
7 3FGM, Anfernee Simons: (POR L, 100-116) @ San Antonio, 01/26/24	Made 7+ 3-Pointers	7 3FGM, Jaden Ivey: (POR L, 122-128 (OT)) vs. Detroit, 02/08/24
10 3FGM, Dalano Banton: (POR L, 107-116) vs. Houston, 04/12/24	10+ 3-Pointer Attempts	10 3FGM, Jalen Reen: (POR L, 107-116) vs. Houston, 04/12/24
18 FTM, Jerami Grant: (POR L, 122-128 (OT)) vs. Detroit, 02/08/24	Made 15+ Free Throws	15 STUM, Jalen Brunson: (POR L, 93-105) vs. New York, 03/14/24
21 FTM, Jerami Grant: (FOR W, 132-129 (OT)) @ New York, 11/25/22	Made 20+ Free Throws	21 FTM, Ja Morant: (POR W, 123-119) @ Memphis, 02/16/22
5 FB, Dalano Banton: (POR L, 117-125) vs. LA Clippers, 03/22/24	Made 5+ Fast Breaks	5 FB, Ayo Dosunmu: (POR L, 107-110) @ Chicago, 03/18/24
* Never Has Happened *	10+ Fast Break Attempts	11 FB, Desmond Bane: (POR L, 109-119) @ Memphis, 04/04/23
9 TO, Scoot Henderson: (POR L, 92-100) vs. Golden State, 04/11/24	5+ Turnovers	5 TO, Bruno Fernando: (POR L, 106-120) @ Atlanta, 03/27/24
13 FD, Jerami Grant: (POR L, 122-128 (OT)) vs. Detroit, 02/08/24	10+ Fouls Drawn	10 FD, DeMar DeRozan: (POR L, 107-110) @ Chicago, 03/18/24
233.0 OR, Wenyen Gabriel: (POR L, 117-122) vs. LA Clippers, 08/08/20	200+ Offensive Rating	235.5 OR, Patrick Patterson: (POR L, 117-122) vs. LA Clippers, 08/08/20
* Never Has Happened *	200+ Defensive Rating	* Never Has Happened *
11 FGM/11 FGM, Dalano Banton/Deandre Ayton: (POR L, 107-124) @ Boston, 04/07/24	Two Players with 10+ Field Goals Made	10 FGM/10 FGM, Nikola Vucevic/DeMar DeRozan: (POR L, 107-110) @ Chicago, 03/18/24
5 3FGM/5 3FGM, Duop Reath/Anfernee Simons: (POR L, 114-119) @ Minnesota, 03/04/24	Two Players with 5+ 3-Pointers Made	5 3FGM/5 3FGM, CJ McCollum/Trey Murphy III: (POR L, 100-110) vs. New Orleans, 04/09/24
31 PTS, 13 REB, 12 AST, Damian Lillard: (POR W, 110-104) @ Detroit, 03/06/23	Had a triple-double	29 PTS, 15 REB, 14 AST, Nikola Jokic: (POR L, 112-127) vs. Denver, 02/23/24
21 PTS, 22 REB, Jusuf Nurkic: (POR W, 98-88) @ Orlando, 01/17/22	Had a 20/20 game	27 PTS, 22 REB, Jalen Duren: (POR L, 122-128 (OT)) vs. Detroit, 02/08/24
1st period, Jerami Grant: (POR L, 120-128) vs. Oklahoma City, 03/06/24	Had a four-point play	3rd period, Garrison Mathews: (POR L, 106-120) @ Atlanta, 03/27/24
128 PTS, (POR W, 128-118 (OT)) vs. Toronto, 03/09/24	A TEAM Scored 120+ points	124 PTS, (POR L, 107-124) @ Boston, 04/07/24
130 PTS, (POR W, 130-104) vs. Philadelphia, 01/29/24	Scored 120 points	142 PTS, (POR L, 82-142) @ Miami, 03/29/24
147 PTS, (POR W, 147-127) vs. San Antonio, 01/23/23		142 FTS, (FOR L, 62-142) @ Miami, 03/29/24
(4/ F15, (F0K W, 14/-12/) VS. San Antonio, 01/25/25 * Never Has Happened *	Scored 140+ points Scored 150+ points	142 F13, (FOR L, 02-142) @ maini, 03/23/24 157 PTS, (POR L, 101-157) vs. Golden State, 04/09/23
	Shot .600+ from the field	
605 (49-81), (POR W, 128-112) @ San Antonio, 12/14/22		.605 (46-76), (POR L, 116-127) vs. Phoenix, 01/14/24
30 PTS, (POR W, 122-92) @ Memphis, 03/01/24	Won by 20+ points	60 PTS, (POR L, 82-142) @ Miami, 03/29/24
30 PTS, (POR W, 122-92) @ Memphis, 03/01/24	Won by 30+ points	60 PTS, (POR L, 82-142) @ Miami, 03/29/24
48 PTS, (POR W, 133-85) vs. Oklahoma City, 04/03/21	Won by 40+ points	60 PTS, (POR L, 82-142) @ Miami, 03/29/24
* Never Has Happened *	Won by 50+ points	60 PTS, (POR L, 82-142) @ Miami, 03/29/24
61 REB, (POR L, 107-116) vs. Houston, 04/12/24	Had 60+ rebounds	60 REB, (POR L, 111-114) vs. Denver, 03/23/24
35 AST, (POR L, 106-120) @ Atlanta, 03/27/24	Had 35+ assists	41 AST, (POR L, 82-142) @ Miami, 03/29/24
41 AST, (POR W, 139-105) @ Philadelphia, 12/14/13	Had 40+ assists	41 AST, (POR L, 82-142) @ Miami, 03/29/24
50 FGM, (POR W, 137-131 (OT)) @ Houston, 01/24/24	Made 50+ field goals	54 FGM, (POR L, 82-142) @ Miami, 03/29/24
20 3FGM, (POR L, 116-127) vs. Phoenix, 01/14/24	Made 20+ 3-pointers	21 3FGM, (POR L, 82-142) @ Miami, 03/29/24
37 FTM, (POR W, 140-123) vs. Dallas, 01/15/23	Made 35+ free throws	35 FTM, (POR L, 98-126) @ Philadelphia, 10/29/23
1st OT, (POR W, 128-118 (OT)) vs. Toronto, 03/09/24	Overtime Win	1st OT, (POR L, 122-128 (OT)) vs. Detroit, 02/08/24
2nd OT, (POR W, 148-144 (2OT)) vs. Brooklyn, 03/25/19	Double-Overtime Win	2nd OT, (POR L, 94-97 (20T)) @ Dallas, 02/11/12
3rd OT, (POR W, 129-119 (30T)) @ San Antonio, 12/19/14	Triple-Overtime Win	* Never Has Happened *
* Never Has Happened *	Quadruple-Overtime Win	* Never Has Happened *
	THE TRAIL BLAZERS (SINGLE-SEASON)	
5/5/2021 — 5/12/2021 (5)	Won 5 straight	-
2/14/2018 — 3/18/2018 (13)	Won 10 straight	-
0/23/2021 — 11/30/2021 (10)	Won 5 straight at home	-
0/00/0001 11/00/0001 (10)		
10/23/2021 — 11/30/2021 (10)	Won 10 straight at home	-
	Won 10 straight at home Won 15 straight at home	-
2/23/1999 — 2/27/2000 (16)		
2/23/1999 — 2/27/2000 (16) //9/2018 — 3/27/2018 (7)	Won 15 straight at home	
12/23/1999 — 2/27/2000 (16) 2/9/2018 — 3/27/2018 (7) * Never Has Happened *	Won 15 straight at home Won 5 straight on road	-
12/23/1999 — 2/27/2000 (16) 2/9/2018 — 3/27/2018 (7) * Never Has Happened * * Never Has Happened *	Won 15 straight at home Won 5 straight on road Won 10 straight on road	-
12/23/1999 — 2/27/2000 (16) 2/9/2018 — 3/27/2018 (7) * Never Has Happened * * Never Has Happened * 3/14/2024 — 4/1/2024 (10)	Won 15 straight at home Won 5 straight on road Won 10 straight on road Won 15 straight on road	-
10/23/2021 — 11/30/2021 (10) 12/23/1999 — 2/27/2000 (16) 2/9/2018 — 3/27/2018 (7) * Never Has Happened * * Never Has Happened * 3/14/2024 — 4/1/2024 (10) 3/14/2024 — 4/1/2024 (10) 3/14/2024 — 4/12/2024 (7)	Won 15 straight at home Won 5 straight on road Won 10 straight on road Won 15 straight on road Lost 5 straight	-

3/4/2024 — 4/1/2024 (7)



Lost 5 straight on road

2023-24 PORTLAND TRAIL BLAZERS





